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Social Security Reform: Economic Issues

Summary

The President hasindicated that Social Security reform will beamajor issuein
the 109" Congress. While Social Security originated as a Depression-era program
aimed at aleviating the economic circumstances of the elderly, social insurance also
correctsmarket failuresintheannuity market (adverse selection), preventsfree-riders
(requires workersto provide for their retirement), spreads risk, and may correct for
failureto optimize by shortsighted individuals. The system imposes costs on society
aswell, through distortions in savings and labor supply, and political risk.

The need for reform arises from projected financial shortfalls of the current
system, alargely pay-as-you-go (PAY GO) transfer system. Trust fund assets cannot
sustain the system. The assetswere arguably not generated through real government
saving (in light of the history of persistent budget deficits). The problem is not
merely a blip that occurs as the baby boom retires. The worker/recipient ratio is
projected to fall permanently and ultimately either taxes must be increased by about
50% or benefits must be cut by one third. Inaction would likely lead to significant
tax increasesinthefuturesinceit isdifficult to cut the benefits of existing recipients.
Reform now would allow future recipients to adapt to benefit changes and the
economy to expand through saving, making the long run problem less burdensome.

Proposed reforms involve revisions to the present system, the introduction of
individual accounts, or acombination of both. All elseequal, raising taxesor cutting
benefits increases government saving; most taxes would not significantly affect the
private saving rate (especially wage and consumption taxes). Evidence suggeststhat
some benefit reductions (e.g., raising both the early and full retirement age) are more
likely to increase labor supply and the tax base than others. Investing trust fund
balances in equities cannot, however, provide higher aggregate returns unless
financed through higher taxesor lower government spending. Otherwise, gainsfrom
investment earnings will be offset by lower returns to private portfolios and higher
government interest rates. This analysis suggests that increased government
borrowing costs could largely negate the perceived gains to the government.

Individual accounts are often touted for their higher returns. However, these
comparisons are not accurate: they do not account for general equilibrium effectson
interest rates, transition costs of paying off existing liabilities, theincreased risk for
individuals, and — in some cases — the full cost of the current system’s social
functions (e.g. disability, transfers). If debt financed, individual accounts systems
would magnify the crisis because transition costs would increase. Moreover, if a
pureindividual account systemisto be successful in addressing market failures such
as adverse selection and free riders, it must be made mandatory in participation,
annuitization, and prudent investment. Two problemsemergeevenif theserulesare
followed. Individual accounts would redistribute away from the poor because of
their shorter lifespan and would eliminate the explicit redistribution of the current
system. Individua accounts would also expose cohorts of retirees to significant
variation in benefits due to the vagaries of the stock market. Individual accounts,
however, could reduce tax distortions and political risk and facilitate budgetary
discipline. Thisreport will not be updated.
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Social Security Reform: Economic Issues

The President has indicated that Social Security reformwill beamajor issuein
the 109" Congress. For sometime comprehensivereform hasbeen anissue of debate
in Congress, but no major action has occurred. Reform proposals have been driven
in part by a recognition that in the future the program is financially unsustainable
under current policy. Thisreport tacklestheissuefrom aneconomic perspectivethat
focuses not merely on reform that achieves programmatic sustainability
(sustainability within the trust fund), but reform that achieves sustainability for the
government and economy as a whole. Moreover, it stresses the importance of
understanding the economi ¢ consequences of program changesif oneisto understand
who paysto achieve this sustainability and what type of changes might be consi stent
with the economic rationale for social insurance.

The Economic Rationale for Social Security

Before turning to the assessment of the current problem and the proposed
solutions to that problem, it is worth taking a moment to consider why we have a
Social Security system at all. Historically, of course, Social Security arose as a
Depression-eraprogram to alleviate the economic circumstances of the elderly. For
that reason (and perhaps others) it began as a transfer rather than a fully-funded
retirement system and the susceptibility of atax and transfer system to demographic
changes is the reason for the current problem. Today, Social Security is more than
aretirement system; it provides disability payments (which account for about 15%
of benefits) aswell as benefitsto survivors and dependents. (Thereisacompanion
program, Medicare, that providesfor health benefitsin retirement.) Social Security
has al so been away to provide income redistribution that haslifted many elderly out
of poverty without resort to explicit (and to some, demeaning) welfare programs. To
some, these other functions of Social Security represent social goals that should be
separated from the provision of retirement income. For others, they are an integral
part of Socia Security’srole of insuring against the risks associated with old age.

Why not simply allow individuals to cope with their own retirement and other
risks (such as disability) through private saving and insurance? Economic theory
suggests several reasons that are discussed below.

Adverse Selection. Onereasonfor anaggregated mandatory social insurance
programisaproblem called* adverseselection.” Sinceindividua sknow more about
their own circumstances than insurance firms, individuals who are more likely to
benefit from insurance would tend to purchase it. For example, using one’s life
savings to purchase an annuity that pays a fixed amount per month over the rest of
one' slifewould be most attractive to individualswho expect to livealong time (and
unattractiveto aperson with aterminal disease). Sotheinsuranceindustry will only
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offer to pay a smaller annuity than that justified by average life expectancy because
the companiesknow that their customerswill morelikely bethosewho expect along
life. Theselessadvantageoustermslead annuitiesto be attractiveto an even smaller
group of individuals. Theresult isthat markets do not provide attractive annuities
to the average person. The problem can be avoided by the government mandating
the purchase of annuities or by directly providing them through a tax and benefit
system.

Moral Hazard. A second problem is one known as “moral hazard,” which
arises from behavioral responses to incentives. In this case, moral hazard arises if
society has a safety net for only the poor. Individuals know that if they do not save
for retirement, society will not allow them to be destitute, so thereisan incentiveto
“freeride” on the program — to undersave, to take too many risksin saving choices,
and to spend accumulated savings too quickly. By requiring individuals to
participate in (and pay taxesinto) a minimum retirement system that paysalifetime
annuity upon retirement that is not risky, thismoral hazard problem can be avoided.

Incomplete Private Insurance Markets. A socia insurance system also
allows for the reduction of individual risk in saving for retirement, by spreading
investment and other risks across individuals within a generation as well as across
generations. Evenif privateinsurance marketsare completewithin generations, they
are unlikely to be complete between generations, implying that a social insurance
system can lead to efficiency gainsfor society asawhole.! A prolonged slumpinthe
stock market, for example, can be especially damaging to the generation reaching
retirement age during that period.

Failure to Optimize. There are other reasons for a mandatory social
insurance system. Individuals may not always do what isin their own best interest,
insurance and annuity purchases are complicated, and the optimal lifetime savings
plan is one susceptible to mistakes or myopia. Economists would call this problem
afailure of individual optimization. Thefact that so many individualsretire at their
earliest age of digibility is suggestive that such failures might occur. If the failure
to optimize is the dominant reason for Social Security, then economic models and
theories may have very little predictive power regarding the effects of reform.?

Economic Costs of Social Security. Social insurance programs also
impose costs on society. If taxes are not directly tied to benefits, they can cause
distortions in labor supply and other economic behavior. Since the current Social
Security system is not fully funded, it may reduce national saving from its efficient
level. 1t may be politically difficult to maintain an accumulated asset fund that is not
viewed as permitting agreater degree of deficit financingin the remaining part of the

! See Robert Schiller, “Social Insurance and Institutions for Intergenerational,
Intragenerational, and International Risk Sharing,” Carnegie-Rochester Public Policy
Conference Series, Apr. 1998.

2 Other economic explanationsfor Social Security havebeen advanced. SeeCasey Mulligan
and Xavier Sala-i-Martin, Social Security in Theory and Practice (11): Efficiency Theories,
Narrative Theories, and Implications for Reform, National Bureau of Economic Research,
Working Paper 7119, May 1999.
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budget. And even socia insurance programs that are funded may not reflect the
optimal choicesin asset holdings.

Since the program is legidlated, it can also expose participants to the political
risk of arbitrary transfersamongindividuals. Note, however, that the potential future
tax and benefit changes necessary to addressthe current solvency problemwould not
disappear in asystem of private saving: political risk should bethought of as shifting
costs and benefits among individualsand is not responsible for real risks such asthe
demographic changes that are creating the current financing problem.

These economic rationales for social insurance, and the costs associated with
them, provideanimportant framework for analyzing alternative approachestoreform
and will be referred to frequently in this report. To illustrate their importance,
consider briefly what they imply about individual accounts, which have been
proposed as afull or partial substitute for Social Security by some and which have
the advantage of reducing economic distortions. Individual accounts (asacomplete
substitute for Social Security) would not address the problems of adverse selection
and moral hazard unlessthey were mandatory (both with respect to contributionsand
to conversion to alife annuity) and prudently invested. If these restrictionswere not
introduced, then there is no economic advantage to government involvement in
retirement decisionsand such decisionscould beleft to the privatemarket. They also
do not permit explicit redistribution in favor of lower income individuals as the
current system does. Indeed, given the higher mortality rates of lower income
individuals, higher income individuals would actually enjoy higher benefits on
average. (The longer expected life span of high income individuals give them an
advantageinthecurrent system aswell, but explicit redistribution toward lower-paid
workers offsets this effect.)

Therefore, individual accounts are caught on the horns of a dilemma: they
cannot simultaneously satisfy the objectives of eliminating adverse selection and
moral hazard and the distributional objectives of the current system. To maintain all
of these objectives, individual accounts would need to constitute only a part of the
Social Security system or the accounts would need to be subsidized for low income
individuals.

What Is the Problem?

Social Security was, and largely remains, apay-as-you-go (PAY GO) systemin
which current workerspay theretirement benefitsof current retireesthrough apayroll
tax.®> There is no saving component to this type of system; from an economic
perspective, it isagenerational transfer system, not a pension or investment system.
If benefits equal tax payments, asapure PAY GO system implies, then total benefits
can only grow at the rate that payroll tax revenues grow — with a stable population
growth and age distribution, that will be the growth rate of the economy. Thus, for

% The economic incidence of the payroll tax is borne by the worker regardless of who has
the legal obligation to pay. Thus, the incidence of the one-half of taxes paid by employers
is no different from taxes paid by employees.
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an average retiree who has spent his entire life contributing to a PAY GO, the “rate
of return” on his payroll taxes would be about equal to the growth rate of the
economy. But for aretiree in the early years of the system who lived part of his
working life before the system’ s inception, the “rate of return” on his payroll taxes
will be much higher because he receivesthe same benefitswithout making alifetime
of contributions.* According to one estimate, past and present generations will
receive $9.1 trillion morein benefitsthan they paid in contributionsin present value
terms, which under current policy will be borne by future generations.”

When the number of retirees grows faster than payroll revenues, benefits per
average retiree need to fall for the system to remain solvent, and the return on
contributions would fall (and could become negative). Trouble arisesin the future
because the retirement of the “Baby Boom” generation, along with increasing life
spans, cause the growth rate of retireesto greatly outstrip the growth rate of workers
in the system. A pure PAY GO system could rectify this imbalance by increasing
taxesin order to maintain the historical growth rate of benefits or by decreasing the
growth rate of benefits to maintain taxes. Neglecting economic effects for the
moment, the choice is ssmply a transfer of income: increasing taxes in 2018 (and
thereafter) constitutes a transfer from future workers to the Baby Boomers, while
lowering benefits constitutes a transfer from the Baby Boomers to future workers.

Theonly other possibility would beto cover the difference through theissuance
of government debt to the public. But this option would simply transfer the burden
further into the future because the budget deficitswould decrease the national saving
rate and with it the future size of the economy; in the long run such an approach
could not be sustained. In any case, theimbalanceislarge enough that debt issuance
could not beaprimary solution to the problem evenin anintermediate horizon. CBO
forecasts suggest that as the Baby Boomersretire, debt would quickly exceed 200%
of GDP, primarily because of higher health care spending. It would be difficult for
the government to convince its citizens to purchase debt at reasonable interest rates
at these levels.

The problem of the Baby Boomers' retirement iswell appreciated. What may
be less well-understood is that the financing problem is a permanent problem; it is
not a decade-long blip while the baby boomersretire. A key to financing aPAY GO
systemistheworker to recipient ratio, and it isthe level of theworker-recipient ratio
that determines the revenues of a PAY GO system, not the change in the ratio. As
seeninFigure2, thisratio deteriorates markedly whilethe baby boomersretire, from
3.4 workers per recipient today to about 2.0 by 2040.° If the ratio then recovered as

* For moreinformation, see John Geanakopolis, OliviaMitchell, and Stephen Zel des, Social
Security Money' s Worth, NBER, Working Paper 6722, Sept. 1998.

® Jagdeesh Gokhale and Kent Smetters, Fiscal and Generational Imbalances, AEI Press,
(Washington, DC: 2003), p. 26.

® 1t is always important to remember that forecasting is not a science, and any future
estimates are only the most likely outcome of an uncertain event. As a projection moves
further into the future, uncertainty increases. In their report, the OASDI Trustees address
thisissue by offering alternative high and low cost scenarios. Under the high cost scenario,

(continued...)
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the Baby Boomersdied, thefinancing problem would be atemporary one whose cost
could be spread by borrowing to generations before and after the blip. But the
problemis permanent: theratioisnot projected to recover. Part of thereason for this
effect is the increasing life span upon retirement which reflects assumptions about
both longevity and earlier retirement.

Figure 1: Worker-Recipient Ratio, 1970-2080

4

!
3.5

1 : : : : :
1970 1990 2010 2030 2050 2070
Year

Sour ce: Trustees of OASDI, Annual Report, 2004, Table IV.B2.
Note: Solid line based on Trustees intermediate assumptions. Dashed lines represent
worker-recipient ratio under alternative scenarios.

One can contrast the past and futurefinancial state of the Social Security system
with the state that would have been achieved if afully funded system had originally
been instated instead of a pay-as-you-go system. In afully funded system, current
workers pay for their own future benefits (through either a collective account or
individual accounts) instead of the benefits of current retirees. Until they retire, the
proceeds are saved in real financial securities, alowing a fully funded system to
achieve a“market” rate of return. How would outcomes differ under this type of
system as opposed to a PAY GO system? Benefit levels and the “rate of return” on
workers' taxes would no longer be directly related to the worker-recipient ratio (it
would only change as the capital stock per worker isaffected). Thus, the retirement
of the baby boomerswould not requirereductionsin benefitsor tax increases because

€ (...continued)
thewaorker-recipient ratio would reach 1.8 by 2040 and under thelow cost scenario, theratio
would reach 2.4 in 2040.
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their benefits would come from their own contributions and the earnings on them.’
Where would the money come from to make this possible? It would come from the
fact that early retirees who spent only afew working years under the system would
have received little or no benefits. Instead, the money they would have received
under a PAYGO system would have been saved and invested for later retirees.
Because money has already been transferred to the early retirees in the current
system, thereisno reform to that system to achieve solvency that can avoid lowering

someone’ s “rate of return.”

The Socia Security system has operated differently from a pure pay-as-you-go
system retirement system historically in two important ways. First, unlike a pure
PAY GO, our Social Security system has not always paid out as much asit has taken
in. Socia Security has aways maintained a small reserve against short-term
fluctuations. Moreimportantly, changesto the systemin 1983 led to Social Security
surpluses that have grown to be 1.3% of GDP in 2004. From an accounting
perspective, these surpluses have introduced a partial funding aspect to the system,
and the Socia Security trust fund has grown to $1,355 billion as a result.
Unfortunately, the budget deficits of the government in most of these years appear
to have prevented the surpluses from partially funding the system in an economic
sense; indeed most years since the 1980s debt held by the public as a percentage of
GDP increased.

Second, theaveragesingleretireewill not enjoy the PAY GO rate of returnequal
to the growth rate of the economy because a portion of hiscontributionsare diverted
to benefits unrelated to retirement. The current system also provides benefits to the
disabled, survivors, and dependents; in 2003, these uses accounted for more than a
third of total benefits paid (18% for survivors, 15% for disability, and 5% for
dependents). In addition, it explicitly redistributes benefits by earnings level,
apparently further lowering the system’ srate of return for higher paid workers. For
example, single workersretiring at age 65 in 2003 earning low wages would recoup
the retirement portion of his and his employer’s payroll taxes plus interest in 10.4
years, a worker earning an average wage would recoup them in 14.9 years, and a
worker earning the maximum eligible wage would recoup them in 21.4 years?®
(However, comparisons of the benefit structure overstate the actual degree of
redistribution because of other factors, such as greater life expectancy for high
incomeindividuals.®) Itisimportant tofactor intheresourcesdevoted to these social

"Increasinglongevity, however, would result in smaller annual annuitiesfor afixed amount
of contributions under afunded system; this effect cannot be avoided, but it does not affect
the typical rate of return.

8 CRS Report RL31034, Social Security: The Relationship Between Taxes and Benefits for
Past, Present, and Future Retirees, by Geoffrey Kollmann.

® See Karen Smith, Eric Toder, and Howard lams, “Lifetime Distributional Effects of
Social Security Retirement Benefits’; and Lee Cohen, C. Eugene Steuerle, and Adam
Carasso, “ Socia Security Redistribtuion by Education, Race, and Income: How Much and
Why?' Both paperswere presented at thethird Annual Joint Conferencefor the Retirement
Research Consortium, “Making Hard Choices About Retirement,” May 17-18, 2001,
Washington, DC. Seealso Alan|. Gustman and ThomasL. Steinmeier, “How Effectivels

(continued...)
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functionswhen cal cul ating the return the system can earn for retirees. Evenafunded
system could not earn the return of a private saving account if it were to maintain
these social functions.

How Big Is the Problem and What Role Do Social Security
Surpluses Play?

This report defines reform as a measure that returns the system to long-term
solvency. Thefirst questionto ask is: what issolvency? Thenarrow definition, used
by the Social Security trustees, of preventing the Social Security trust fund from
being depleted over 75 years seems unsatisfactory from an economic perspective.
After al, the trust fund can be replenished in any number of ways that would not
makeit any easier for the government to meet itsfinancing needs and would have no
effect on the economy. For example, we could simply divert incometax revenuesto
the trust fund any time benefits exceed payroll tax revenues. But if the government
wished to maintain its other spending without raising taxes, it would then have to
borrow to finance spending that would otherwise be financed through income tax
revenues. The government cannot borrow sufficiently to maintain current policy
through the retirement of the Baby Boomers (largely because of the rapid projected
growth of Medicare spending) because debt cannot grow faster than GDP without
limit as current policy implies.

This analysis raises a further question: does the system become unsustainable
when benefits exceed revenues, asisforecast to occur in 2018, or isit sustainable as
long asthere are assetsin the trust fund to draw down, aswill bethe case until 20427
The latter option seems unsatisfactory when one considers that there are not any
“real” assetsinthetrust fund at all. Since the Social Security trust fund holds U.S.
Treasuries, the government owes money to itself. It isanalogous to saying that one
can afford to make a purchase because one’ sleft pocket hasan |OU from on€e’ sright
pocket, even though one’ s right pocket isempty. What isin the left or right pocket
by itself isirrelevant, it istotal wealth that determines whether the purchase can be
made. Similarly, it isthe government’s overall ability to meet the needs of retirees
that determines the sustainability of the Social Security system when the Baby
Boomers retire. The government’s overall ability to pay benefits comes down to
what benefitshave been promised, how much overall tax revenueisbeing raised, and
what is the size of the economy from which taxes are being raised. The answer to
these three questions determines the underlying solvency of Social Security.

Becausethedeclineintheworker to recipient ratioisprojected to be permanent,
thefinancing problemispermanent. Thismakesthetrustees estimate of the 75-year
actuarial deficit of 1.89% of payroll a misleadingly low estimate of the system’s
financing problems — atrust fund that is solvent for exactly 75 years merely shifts
the permanent tax increases to year 76 and offers no indication of how the

9 (...continued)

Redistribution Under the Social Security Benefit Formula?’ Presented at Second Annual
Joint Conference for the Retirement Research Consortium, May 17-18. Washington, D.C.
Julia Lynn Coronado, Don Fullerton, and Thomas Glass, The Progressivity of Social
Security, National Bureau of Economic Research, Working Paper 7520, Feb. 2000.
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government will finance the redemption of trust fund assets.® The problem with
current policy is that, mostly due to the projected rise in Medicare spending, the
overall gap between revenues and outlays would place an unsustainable strain on the
unified budget deficit.™* For this reason, although the trust funds are assets to the
Social Security system, it isdoubtful that there will be general revenues availableto
honor those assets. Thus, the best measure to gauge the size of the problem is the
difference between taxes and benefits paid over time under current policy, as shown
inFigure?2. For thetime being, focusing on this measure sets aside the issue of trust
fund bal ances, which are not meaningful in an economic sense without considering
total government assets or liabilities.

Figure 2: Projected Revenues and Outlays of the Social
Security System, 2005-2080

% of GDP
&
&

— vy
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Sour ce: Congressional Budget Office
Note: Graph represents conditions under CBO'’ s intermediate assumptions.

AsFigure2 demonstrates, in thelong run, paying benefits under current policy
would require permanent tax increases, reaching 6.3% of GDP in 2030 and 6.8% of

19 The measure of Social Security’ sfinancing shortfall most commonly cited isthe actuarial
deficit. The actuarial deficit is the size of the tax increase or benefit reduction, as a
percentage of payroll, that would be required for the trust fund to exhaust its assetsin 75
years. It does not measure the tax increase or benefit reduction needed to prevent cash
deficits within the system over 75 years — the actuarial deficit assumes that cash deficits
in any given year can be closed by drawing down trust fund assets.

1 Theindefinite maintenance of current policy impliesthat the national debt asapercentage
of GDP would be projected to asymptotically approach infinity.
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GDP by 2080 (the end of the projection period), ignoring for the time being
economic effects. Compared to current law, thispercentage of payroll translatesinto
atax increase of roughly 50%. It would also be about 3Y2timesaslargethe Trustees
actuarial deficit of 1.89% of payroll. (Although this report addresses only Social
Security, it should be stressed that Medicare and Medicaid face projected shortfalls
that are even larger, and would require even larger tax increases to fund.)

The projections are extremely sensitive to underlying assumptions and should
betreated with caution. Under the low-cost alternative scenario, the shortfall would
reach 0.6% of GDP by 2030 and 0.4% of GDP by 2080. Under the high-cost
scenario, the shortfall would reach 2.2% of GDP by 2030 and 4.3% of GDPin 2080.
Thus, while the extent of reform is highly uncertain, even under the low-cost
scenario, some tax increase or benefit reduction would be necessary.

If a permanent future tax increase or benefit reduction of nearly 2.5% of GDP
is necessary, but the system is currently in surplus, is there any reason to reform the
system before it becomes insolvent? The worker to recipient ratio is nearly fixed,
barring massive immigration or higher birth or death rates. Only the future size of
the economy and the future state of government finances can be influenced today.
Thus, reformcan ease the futur e financing burden only if reform causes the economy
to grow faster and improvesthe gover nment’ sfinances.* These are macroeconomic
problems that cannot be posed in terms of the Social Security system’strust fund.

In these terms, according to standard economic theory, the crucial factor in
determining whether the Social Security surpluses increase economic growth and
improve the government’ s finances depends on whether they are saved. Saving by
the government has two salutary effects. Firdt, it increases national saving, which
increases private capital accumulation, thefuture size of theeconomy, and withiit the
future size of tax receipts. In this way, saving budget surpluses is analogous to
transferring resources from present to future generations. Second, saving frees up
future government resources (by reducing interest payments and increasing tax
revenues in absolute terms) that make financing future imbalances easier. By
contrast, when the Social Security surplus is used to finance other government
activities or tax cuts rather than being saved, the Social Security trust fund is
increased but nothing is done to alleviate the government’ s future fiscal imbal ance.

Of course, it is difficult to actually determine whether the Social Security
surpluswas saved because we cannot observe the budget that would have beeninthe
absence of surpluses. But we do know that the government had deficits every year
from 1983 to 1997 (and again beginning in 2002), when surpluses were appearing in
the Social Security system, and that debt as a percentage of output increased during
that period. If the Social Security surpluseswere used to finance other spending, then
running surpluses in the accounts has done nothing to address the crisis in a real
sense. (Thecounter-argument isthat the Social Security surplusesincreased national

12 Reformin advanceis also essential for approachesthat involve benefit reductions so that
workers have enough of their working careersleft to adjust their personal saving behavior
to the reductions.
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saving because the historical budget deficits would have been even bigger in their
absence.)®®

From this discussion it should be clear that saving a surplus from any source
will increase the future size of the economy and improve the government’s future
financial position, even though non-Socia Security surpluses do not increase the
Social Security trust fund. However, merely saving all of the projected Social
Security surpluses, which are determined by budget accounting rules rather than the
scope of the problem, is grossly insufficient to close the long-term financing gap.

A word of cautionisinorder. Simply increasing the size of the economy alone
will not convert a permanently unsustainable system to a sustainable one. A higher
wage basewill increasetax recel pts but because under current law benefitsarelinked
directly to wages, benefits will increase as well. (Because it would not raise the
benefits of those aready retired, higher economic growth would improve the
system’ s finances — but only temporarily.) What increased saving will do is make
other changes (such as higher taxes and/or reductions in benefits relative to wages)
easier because everyone will be better off. For example, if income is higher, a
relatively lower tax ratewill be needed to raise agiven amount of revenue. Plansthat
aim to improve sustainability through economic growth would, therefore, be more
effectiveif the link between wage growth and benefit growth were weakened.

Economic Effects of the Current System:
Savings and Labor Supply

Before examining alternative reform proposals, we begin with two important
behavioral effects of the current system: effects on savings and the supply of labor.
The Socia Security system, likeall tax and transfer systems, has potential effectson
the size of the economy through effects on labor supply and capital accumulation.
Firgt, the tax and transfer system could alter savings decisions because it reduces
income in the present and increases it in the future. Secondly, the payroll taxes
themselves could alter labor supply aswould bethe casefor any tax on labor income,
with the effects depending on the linkage between taxes and benefits. In Socia
Security, thereisalink between benefits and taxes, however, so payroll taxesare not
taxesin a strict sense; workers may view them more as contributions that will |ater
be recouped. Higher earnings during the working years result in higher benefits,
albeit earning amuch smaller returnthan woul d savingsand perhapsreflecting forced
savings.** Thus, the behavioral effects of atax and transfer system occupy amiddle
ground between an ordinary tax and expenditures system and a pension system.
Moreover, individuals may perceivethetax asdifferent from other taxes; indeed, the
payroll tax is atax that has generally not been as unpopular as income taxes.

13 For alternative perspectives on the Social Security trust fund, see Kent Smetters, Isthe
Social Security Trust Fund Worth Anything?, The Wharton School, University of
Pennsylvania, Working Paper, May 13, 2002.

% In the Medicare program, there is no link between the level of earnings and the level of
benefits.
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Social Security and Private Savings

To an individual, participation in the Social Security system appears to be a
form of saving: it reduces disposable incomeinworking yearsand increasesit in the
future. Incertain modelsof household behavior over time(e.g., thelifecyclemodel),
such an income shift should reduce personal saving. A natural response is to
rebalance consumption over time by increasing consumption today and reducing
funds available in the future that are less needed. In a simple model where Social
Security earns a normal return and borrowing is available, savings should fall by
exactly the amount of Social Security taxes. This expected effect has been the basis
for much criticism of the unfunded Social Security system. That is, the Social
Security system can be seen as a system that provides effects similar to saving in a
pension plan, except that no real accumulation of capital necessarily occurs. (The
system has generated surpluses but thiseffect isnot very meaningful for two reasons:
first, most of the system is still pay-as-you-go and the surpluses are small inrelation
to the future size of the unfunded liabilities, and secondly, these surpluses may have
permitted larger deficitsin programs outside of Social Security, so that it isnot clear
that real savings has occurred).

However, this effect on savingsis not certain for several reasons. Firgt, to the
extent that a Social Security system substitutes for pre-existing intergenerational
transfers, no savings effects would be expected. For example, if, in the absence of
Social Security, individuals expect to support their parents and expect, in turn, to be
supported by their children, and that obligation is reduced or eliminated by Social
Security, the transfer system is acting as a substitute for private transfers and would
not necessarily reduce private saving. Similarly, if parents had expected to leave
bequeststo their children, the parents would have increased their bequests to offset
the payroll tax, and children would wish to save that bequest to relieve their own
children of the tax. (Most families do not leave bequests of any significance,
however, so it isthe former rather than the latter phenomenon that is more likely).
At the extreme, one can argue that if all individuals are connected through
intergenerational transfers, anything the government does is offset by what
individualsdo (thisphenomenonisreferred to as Ricardian equivalence). Although
such amodel is obviously not entirely realistic (some individuals have no children,
for example), some elements of it may be present in the U.S. economy.

In either of these models, outcomes may al so be affected to the extent that some
individuals are liquidity constrained; that is, they would like to consume more now
but cannot. Liquidity-constrained individuals are affected only by cash flow effects;
that is, taxes lower consumption and future income such as Social Security has no
effect on current consumption. There is evidence that a significant fraction of
individualsfallsinto this category. People may aso save for precautionary reasons
because of future uncertainty and the potential for misfortune. Social Security may
lower private saving by reducing uncertainty and the need for precautionary saving.
(Then again, the family safety net may make precautionary saving largely
unnecessary, so that the introduction of Social Security has little effect on
precautionary saving.) Finaly, this analysis of savings effects assumes that
individuals are making optimizing choices. However, making the appropriate
lifetime savings decision is not only complicated, it is done only once so one cannot
learn from mistakes. Thus, the possibility for asignificant error must be considered.
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All of this discussion suggests that we need to turn to empirical evidence to
assess the effects on savings. Much of this approach has been based on time series
studies, which examine the change in savingsrates over timewith changesin Social
Security wealth. Unfortunately, the econometric evidence has been mixed.™® An
early influential study by Feldstein (1974) found Socia Security significantly reduced
private savings (actually increasing consumption). However, that study was found
to have aprogramming error by Leimer and Lesnoy (1982), which caused theresults
to become smaller and generally statistically insignificant. Feldstein (1982, 1996)
still found significant resultswith additional data: hisfindings suggested that Social
Security reduced the saving rate by half in 1992. These results were questioned by
Meguire (1998), who found a result about a tenth as large and by Coates and
Humphreys (1999) who found results that tended to be smaller and, in some cases,
in the opposite direction. A part of the problem with these studiesisthat it is very
difficult to measure Social Security wealth; another isthat itisdifficult to control for
other effects; and finally, the results tend to be sensitive to functional form. In
general, studies have found some savings offset, but typically not enough for Social
Security to offset private wealth dollar for dollar.

Some studies have used cross section data, and in most cases found some effect
on saving, but considerably less than the full savings reduction implied by the life
cycle modeling approach. Most of the effects were not statistically significant,
however. These data are, in any case, quite questionable because Social Security
rules are generally applied uniformly; thus, any variation is correlated with other
characteristics (income, family status, age) that could independently affect savings.*

A final approach isto compare savings rates in countries with different Social
Security systems. These resultstend to not be very conclusive, finding both positive
and negative effects, usually without statistical significance. But perhapsit is not
surprising that it is difficult to detect results given the possible influence of cultural
mores on saving.” In general, therefore, the evidence suggests a savings effect but
one that is by no means large enough to be consistent with the life cycle model.

At thispoint, aword of caution isalso in order, for predictions of the effects of
Social Security reform that rest on simulation models. An example is the recent

1> See Martin Feldstein, “Social Security, Induced Retirement and Aggregate Capital
Accumulation,” Journal of Palitical Economy, 82 (Sep./Oct. 1974), pp. 905-926; Dean R.
Leimer and Selig D. Lesnoy, “Social Security and Private Saving: New Time-Series
Evidence.” Journal of Palitical Economy 90 (June 1982), pp. 606-629; Martin Feldstein,
“Socia Security and Private Saving: Reply,” Journal of Political Economy, 90 (June 1982),
pp. 630-642; Martin Feldstein, “ Social Security and Savings. New Time SeriesEvidence,”
National Tax Journal 49 (June 1996), pp. 151-163; Philip Meguire, “ Social Security and
Private Savings,” National Tax Journal, 51 (June 1998), pp. 339-358; Dennis Coates and
Brad R. Humphreys, “ Social Security and Savings: A Comment,” National Tax Journal 51
(June 1999), pp. 261-268.

16 See the review in Social Security and Private Saving: A Review of the Empirical
Evidence, Congressional Budget Office, July 1998.

Y 1bid.
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study that usesadynamic model to estimatethe effects of Social Security revisions.
Thismodel isalife cycle model (although it allowsfor bequests, the bequest motive
isnot thetypethat leadsto no effect of Social Security on savings). Thisstudy tends
to find privatization an attractive option, in part because of its effect on saving. But
this result is driven in part by the fundamental nature of the model. A different
model would not have led to the same predicted effect.

It should also be recognized that if individuals are well-informed, rational, and
optimizing, the projected insolvency of the Social Security system should already
have an effect on the national saving rate. If people working today know that the
system will be capable of paying only, say, two-thirds of their benefits as promised
under current law, then they should be saving more than they would if the system
faced no crisis. On the other hand, if individuals currently believe they will pay the
taxesand receivethe benefits promised under current law, reform could induce more
private saving. This could happen because individuals are not well informed (e.g.,
they base their expected benefit on account statements from the Social Security
Administration instead of the financial position of the system) or because they think
that otherswill bear the burden of solving the problem (e.g., they believe taxes will
be raised after they have retired).

The theoretical and empirical evidence suggests that Social Security has had a
less clear cut effect on saving than is often assumed. If Social Security has not
caused individuals to save less, then the PAY GO approach may not be necessarily
faulted as discouraging savings. In any case, it is one thing to argue that had we
originally introduced afully funded system rather than a PAY GO system, we would
have achieved higher national saving rates. But it is another to argue that now that
we have had a PAY GO system for over 60 years, shifting to a funded system will
raise the national saving rate. Asdiscussed below, moving from aPAY GO to fully
funded system involves a significant transition cost, and if this transition cost is
financed through debt issuance, national saving will not rise. Thus, the moveto a
fully funded system is only likely to increase national saving if real resources are
devoted to financing the transition in the form of higher taxes or lower benefits.

Labor Supply

Social Security systemscan al so affect labor supply. Economic theory suggests
that wage taxes have the potential to reduce or increase work effort depending on
offsetting income and substitution effects; these effects may be reflected in hours
worked or the workforce participation rate. If the tax reduces hours worked or
participation, raising payroll taxesthemsel vescould have anegativeeffect onthesize
of thework forcerelativeto theretired popul ation and the size of the economy. Most
evidence, however, suggeststhat labor supply isnot very responsivetothewagerate,
because of offsetting income and substitution effects. Indeed, for men the evidence
suggeststhat anincreasein net wages would slightly reduce work, whilefor married
women the effect isa dlight increase; both of these effects are more likely to reflect

18 |_aurence J. Kotlikoff, Kent Smetters, and Jan Walliser, Finding a Way Out of America’s
Demographic Dilemma, National Bureau of Economic Research, Working Paper 8258, April
2001.
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participation choices rather than choices of hours worked. Based on empirical
studiesthat reflected taxes, the Congressional Budget Office puts the total response
at an elasticity of between 0 and 0.3, meaning that a 10% reduction in wage might
reduce work effort by up to 3%, reflecting aresponse of between -0.1to 0.2 for men
and 0.3 to 0.7 for married women.™

Social Security has some particular attributes for the effect on work that might
modify theseresultsin variousways. First, thereisalink between payroll taxes and
thesizeof Social Security at retirement that makesthe payroll tax only partially atax.
Because of redistribution in the system and the PAY GO nature, thisrelationship is
not perfect (i.e., the return earned istoo low and variation in taxes does not lead to
the same degree of variation in benefits), but the payroll tax is more directly linked
to benefitsthan are other taxes. Secondly, thereisaceiling on covered wages, so that
higher income workers do not experience the marginal tax effects that tend to lead
to reduced work. Indeed, for such individuals (which would include higher income
men), there s, if anything, an inducement to increase work from payroll taxes via
income effects.

For married women, who have generally been viewed as most responsive to
taxesin their labor supply, the link between taxes and benefits is lessened because
they may receive spousal benefits even if they do not work. Thislatter link suggests
that the benefitsto contributing are smaller than would be the casefor other workers,
and the presence of the spousal benefit could reduce labor force participation.
Benefits for a non-working spouse are essentially atransfer, and some have argued
that such benefits should not belarger for non-working wives of higher income men;
rather the payment should be aflat payment. A smaller flat benefit would increase
the tie between Socia Security contributions and benefits for married women who
work, and should increase their labor supply. However, empirically estimating the
labor supply responsiveness of women to wagesis always difficult because potential
wages of non-workers are not observed. Moreover, the responsiveness to Social
Security benefits also depends on perceiving and expecting that working will result
in losing the non-working spouse transfer; younger women particularly may be
unaware of how spousal benefits are formulated. Empirical evidence that focuses
particularly on Social Security isrelatively limited. One study found a significant
effect on labor force participation of the implicit benefit differential due to being
eligible for a spousal benefit for older married women, but not for younger ones,
another study found that the benefit differential led to earlier retirement.?

Perhaps the clearest effect of Social Security on work effort has been the
increase in retirement of older men since the introduction of the system. Between
1950 and 1989, labor force participation decreased from 46% to 17% for those 65
and over, and from 87% to 67% for those 55 to 64; the median age of retirement for

¥ U.S. Congressional Budget Office, Labor Supply and Taxes, Memorandum, Jan. 1996.

% See Therese A. McCarty, “The Effect of Socia Security on Married Women's Labor
ForceParticipation,” National Tax Journal, vol. 43 (Mar. 1990), pp. 95-110; Jessi ca Primoff
Vistnes, “ An Empirical Analysisof Married Women’ sRetirement Decisions,” National Tax
Journal, vol. 47 (Mar. 1994), pp. 135-156.
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both men and women fell from around 67 years to about 62 years.** Labor force
participation of men aged 62-64 fell dramatically after the introduction of early
retirement at 62 in the early 1960s, even though there was an actuarial correction to
prevent early retirees from drawing larger lifetime benefits. 1n 1963, 76% of these
men worked; by 1985, only 46% participated (the number has roughly stabilized at
that rate).?? Thefall in retirement age appears to have slowed down, and perhaps
stabilized from the 1970s to the 1990s, however.

There are a number of factors that might affect this decline, but some of it is
estimated to be due to Socia Security, in part because Social Security makes
retirement feasible, and in part because Social Security has an earning test that
discourages work. In 2000, Congress repealed the test for recipients 65 and older;
it is probably too early to measure the potential effects of this change. For those
expecting not to live very long, retirement at 62 would be attractive despite the
aggregate actuarial correction. Moreover, by setting a minimum age for benefit
eligibility, Social Security may have contributed to setting some social norm.

Statistical studies have generally found an effect, although in some cases not a
large effect, of Social Security on retirement age. Some researchers attribute a
significant portion of the reduction in labor force participation to mandatory
retirement policies adopted by businesses and only recently made illegal, and to
features of private pension systems which encouraged retirement at a specific age.”®
Asin the case of saving, studies that rely on cross sections within the United States
may be questionabl e because Social Security wealthiscorrelated with other variables
that may affect retirement. Moreover, the observation of a falling retirement age
following the introduction of earlier retirement age eligibility and the dramatic fall
in labor participation has also occurred in other countries that did not experience
major changes in private pensions; older men’s labor force participation has been
declining in these countries as well. These studies suggest that a statutory early
retirement age significantly influences the average age of retirement.

If these studies are correct, an important method of raising the worker to
recipient ratio may be to raise the age of early retirement (the “normal” retirement
age is adready being increased). Critics argue that early retirement reduces the
pressure on disability insurance and that many individuals cannot easily work into
older age. However, most occupations have probably become physically less
demanding. They also argue that allowing earlier retirement prevents people from

# See Andrew Samwick, “New Evidence on Pensions, Social Security and the Timing of
Retirement,” Journal of Public Economics, vol. 70 (Nov. 1998): 207-36; Murray Gendell,
“Retirement Age Declines Again in 1990s,” Monthly Labor Review, Oct. 2001.

2 William J. Wiatrowski, “ Changing Retirement Age: Ups and Downs,” Monthly Labor
Review, Apr. 2001.

% |bid; aso see Catherine Philips Montalto, Yoonkyng Yuh, and Sherman Hanna,
“Determinants of Planned Retirement Age,” Financial Services Review 9 (2000); 1-15, and
Congressional Budget Office, Raising the Earliest Eligibility Age for Social Security
Benefits, Jan. 1999.

24 See Jonathan Gruber and David Wise, Social Security Programs and Retirement Around
the World, National Bureau of Economic Research, Working Paper 6134, Aug. 1997.
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being thrust into poverty. The evidence suggests that about a quarter of men
receiving early retirement had a self-reported work-limiting disability. Of all early
retirees, fewer than onein ten were both disabled and had non-social security income
below the poverty level . Another study estimated that cutting early social security
benefitswould increase the probability of normal retirement by twice as much asthe
probability of disability retirement.?

The Solutions: Potential Social Security Reforms
within the System

Approachesto the Social Security’ sfinancingimbalancefall into thefollowing
five major categories:

doing nothing at thistime

raising current and/or future taxes

decreasing current and/or future benefits
investing the trust fund in higher yielding assets
the adoption of individual accounts

Whichever approachisultimately chosen, changeswill haveto be madetothe system
in one fashion or another. Whilethisreport does not provide a detailed quantitative
analysis of the options, they are each discussed briefly in light of the objectives of
socid insurance, thedistributional effects(both acrossgenerationsand acrossincome
levels), and implications for economic behavior. The efficacy of any reform will
depend on whether it limits the size of eventual tax increases or benefit reductions
implied in current policy.

In some cases, the effects of specific revisions are not as clear asthey are often
portrayed. Anillustrationisaproposal toinvest trust fund assetsin the stock market
rather than in government securities, thereby earning a higher rate of return.
However, in the absence of basic increases in the supply of capital and labor, this
change cannot be a free lunch: somewhere, someone will pay for these apparent
gains. Another example is the potential effect of moving to voluntary individual
accounts, which canresult in higher interest paymentsand, in the presence of adverse
selection and moral hazard, higher welfare costsin therest of the budget. One of the
most important effects of this proposal is that individual accounts are supposed to
shift from pay-as-you-go finance to funded finance. To simultaneously solve the
problem of financing promised benefitsin the Social Security system and shift to a
permanently pre-funded (even if only in part) system would require agreat deal of
new resources during the transition period.

% Congressional Budget Office, Raising the Earliest Eligibility Age for Social Security
Benefits, Jan. 1999.

% See Olivia S. Mitchell and John W. R. Phillips, Retirement Responses to Early Social
Security Benefit Reductions, National Bureau of Economic Research, Working Paper 7963,
Oct. 2000.
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Commentatorstend to dividereform proposalsinto “ sacrifice” approaches, such
as benefit reductions or tax increases, or “investment” approaches such as equity
investment by the trust fund or the introduction of individual accounts. This report
suggests that policymakers cannot simply choose one approach or the other; they
must be linked to other changes to succeed. Tax increases or benefit reductions at
present are only useful if they result in a higher government saving rate; this effect
can be accomplished through debt reduction or an investment approach. If changes
lead to higher government spending outside of Social Security or to tax cuts, they
will have increased the size of the trust fund without improving the government’s
ability to honor trust fund promisesin the future. Likewise, investment approaches
are only useful if they lead to a higher government saving rate, and a higher
government saving rate is only possible through tax increases or benefit reductions.
Otherwise, investment inthetrust fund or individual accountswill be* debt financed”
and have no positive effect on national saving.

To make the system sustainable or solvent after reform, Social Security should
have roughly no effect on the unified budget balance every year. To achievethisif
Social Security isto remaininitscurrent (PAY GO) form would require that its cost
rate be approximately equivalent to the income that has been designated to the
program. It is aso possible for some of the system’s income to come from
investment earnings, if the trust fund or individual accountswereinvested, or for the
system to be redesigned to receive revenue from on-budget sources, such as the
proceeds of an increase in income tax revenues.

This definition of solvency may seem overly strict since there is nothing
preventing the system from running deficits aslong asthe trust fund possesses assets
and nothing preventing the government from supplementing the system with general
revenuesif it desires. Nevertheless, the definition used in thisreport is conceptually
useful becauseitistheonly definition that requires an explicit description of how the
financing gap would be closed in each year. Reform options that include proposals
such astheuseof unidentified general revenuetransfers, theredemption of trust fund
assets, or the issuance of debt — on atemporary or permanent basis — implicitly
depend onfurther tax increases, benefit reductions, or reductionsin other government
spending, but do not explain how they will occur. Again, it should be stressed that
deficit financing does not impose a smaller burden than tax increases or benefit
reductions; it smply shifts the burden forward to future generations.

Of course, reforms can only return the system to projected solvency, and the
margin of uncertainty on projectionsislarge. If the projections are too pessimistic,
then reforms could turn out to be overly harsh. If the projections are too optimistic,
thenfurther tax increasesor benefit reductionswoul d become necessary in thefuture.

Inaction and the Default Solution

Inaction itself does have some consequences. As stressed at the beginning of
this report, the Social Security system is not sustainable in its current form, and
inaction shifts the burden of fixing it to the future. Without action now, however,
these future changes cannot be softened by preparation or warning. Asnoted above,
given the permanent gap between income and outflow, eventually payroll taxeswill
have to increase by about one half or benefits be cut by about one third in order to



CRS-18

match income and outflow. On the other hand, if Social Security cannot be more
successfully insulated from the rest of the budget and gains from reform are used to
finance other government spending or tax cuts as has happened in the past, inaction
may be preferable.

A second reason to take action soon is that if benefits were to be reduced, it
would be appropriate to determine those reductionsin advance so that workers could
plan for them. Policy makers are reluctant, for obvious reasons, to reduce benefits
of those currently retired, and taking no action today may simply result in increased
taxesin the future as a default condition.

Raising Taxes

Raising taxes now and saving the proceeds by improving the unified budget
balance would raise the national saving rate and improvethe government’ sfinances.
(Thebeneficial effect would not occur if taxeswererai sed and the proceeds were not
saved.) Raising taxes now would impose part of the adjustment burden on current
workers, including the baby boom generation, if this accumulation could occur
without causing deficit financein therest of thebudget. Increasesinthe capital stock
result in atrueimprovement in sustainability, aswageincomewouldrise. However,
theimprovement in solvency would be partly offset unlesstherewere somereduction
in benefits relative to wages. That is, one would need to keep benefits on the path
they were already on which would effectively mean a cut in Social Security benefit
relative to the larger economy. Raising taxes now and keeping them permanently
higher asamethod of achieving sustainability could convert the system to apartially
funded system.

Whiletax increases are never popular, it should be noted that in this case — if
one's goal is to maintain the current size of the Social Security system — raising
taxes now is more economically efficient than raising them in the future. Since the
deadweight loss of taxation grows exponentially astaxesincrease, thereisasmaller
efficiency loss from raising taxes now than maintaining them for the time being and
raising them to a greater extent in the future.

If the current payroll tax base were raised, there would probably be relatively
little adverse effect on private savings or labor supply. Generally wage taxes are
unlikely to have an effect on the savings rate (or private capital accumulation) in the
economy through price effects. Its only effect may be that because any tax reduces
net income, it reduces the saving of those who save at afixed rate. That is, some
small part of any tax increase may come out of savings because individualswish to
spread the reduction in consumption over their lifetimes.?” There are also concerns
about theregressivity of Social Security taxes, which might arguefor increasesinthe
earnings baseaswell (currently thereisaceiling on wages subject to the payroll tax).

2" There are economic models where such an effect would not occur, including infinite-
horizon models with fixed labor supply, where taxes have no effects (only spending).
However, in the context of these models, the government as well as the economy must be
dynamically stable and one could view the taxes simply as a consegquence of spending
decisions.
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Alternatively, income taxes could be increased to help reduce the system’s
liabilities. These taxes are relatively progressive and fall on the elderly as well as
workers, but they may have somewhat larger distorting effects on savings and even
labor supply. Incometaxeshave mixed effects:. they still have some effect onincome
in retirement, but they also have the potential for discouraging savings through
effects on the rates of return. These offsetting effects may be the reason that
substituting wage for income taxes typically has little effect on the economy in life
cycle models.®

Some studies have proposed using a consumption based tax, such as a value-
added tax, to supplement payroll taxes.® One argument for using such atax isthat
itislesslikely to adversely affect savings and labor supply. While payroll taxesfall
solely on workers, consumption taxes also impose a lump sum tax (i.e., atax that
does not distort economic behavior) on older individuals because they fall on assets
aswell ason wages. In general, Social Security benefits are not affected since they
areinflation-indexed, so that elderly individual swithout income from wealth would
not bear thisburden. Moreover, becauseit falls on existing retired workersit can be
imposed at alower rate than a wage tax.

Another approach to raising tax revenue would be to change the tax treatment
of Social Security benefitsfor purposes of the income tax to make it consistent with
the taxation of private pensions, as discussed below. Currently, about two-thirds of
Social Security recipients pay no income tax on their benefits. This approach could
also bethought of asan effective benefit reduction. 1t would fall relatively lightly on
low-income individuals who would be less likely to pay income tax because of
standard deductions and personal exemptions in the tax system. Itsimpact would
also belimited for higher incomeindividual swho al ready pay tax on alarger fraction
of their benefits.

Cutting Benefits

There are many waysto cut future benefits, which thisreport definesasreducing
benefitsrelative to current law rather than in absolute terms. Most proposalswould
make benefit cuts prospective, to provide time for adjustment, so little of the effect
would be felt by the current elderly. A proportional, across-the-board, phased-in
decrease could be used, or aslowing of indexation to pricesand wages could be used.
The advantage of the latter approach is that the savings to the government would
grow over time, offsetting the growth in funding shortfall (although if carried out
indefinitely, it would cause Social Security benefits to become extremely small
relative to pre-retirement income). CBO estimates that one proposal along these

% See Eric Engen, Jane Gravelle, and Kent Smetters, “Dynamic Tax Models: Why They
Do the Things They Do,” National Tax Journal, vol. 50 (Sep. 1997), pp. 657-682.

2 See Laurence J. Kotlikoff, Kent Smetters, and Jan Walliser, “Finding a Way Out of
America sDemographic Dilemma,” National Bureau of Economic Research, Working Paper
8258, Apr. 2001. Note that their study shows very beneficial effectsfrom VAT finance as
opposed to finance via payroll or income taxes because in a life-cycle model saving tends
to respond very powerfully to such atax regime.
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lines could reduce outlays to 4.1% of GDP from 6.2% of GDP (under current law)
by 2050.%

Two particular approaches to restoring solvency that could also induce
economically beneficial behavioral effects are reducing benefits for dependents of
high wage earners and increasing the retirement age. As noted earlier, one of the
transfersin the Social Security system is aspousal benefit guarantee that rises with
the payment to the primary worker. For a secondary worker, the existence of these
benefits means that contributions paid into Social Security earn alower return, and
thus may have adverse behavioral effectsmorein the nature of puretaxes. Lowering
the expected benefit to women who do not work increases the return to working and
should, in theory, result in more labor force participation. Evidence (cited earlier)
suggeststhat this treatment particul arly has an effect on the labor force participation
of older married women.

A second approach is to increase the normal (or full benefit) retirement age.
Proponentsjustify thisapproach onthegroundsthat rising life expectancy meansthat
retirees are collecting benefits for longer than previous retirees. The full benefit
retirement age is aready scheduled to increase to 67. Raising the full benefit
retirement age would result in direct savings in terms of benefit reductions, either
because of fewer delayed retirement credits or because of reductions in payments
received in early retirement. CBO estimated that a proposal to raise the retirement
age and reduce early retirement benefits would reduce outlaysin 2050 from 6.2% of
GDPto 5% of GDP.** Another study found that raising the projected retirement age
by an additional three years would reduce the projected increase in spending on
Social Security (as apercentage of GDP) by about 40%.% To the extent that workers
delayed retirement because of these changes, output would be higher and more taxes
would also be collected.

An alternative that might have a greater behavioral effect is to raise the age of
early and full benefit retirement or to reduce benefits for early retirees. Such an
approach might have alarger effect on delaying retirement, which would also boost
output and tax revenue. Raising the early retirement age should aso reduce the
amount of adverse selection in the system (the tendency of shorter-lived people to
chooseearly retirement); reducing benefitsto early retirees permits adverse selection
but does not reward it as much. However, if early retirement decisions are not
primarily driven by adverse selection, the behaviora effect of lower early retirement
benefits may be limited. These proposals have a cost, in that the burden may fall
disproportionately on demographic groups with lower life expectancy (including
lower income individuals, men, and minorities) or those who work in arduous
occupations, and it may increase claims for retirement based on disability.

% Congressional Budget Office, The Long Term Budget Outlook, Dec. 2003, p. 22.
3 Congressional Budget Office, The Long Term Budget Outlook, Dec. 2003, p. 24.

# |bid. After 75 years, costs (including Medicare) were projected to rise to about 0.264
from 0.137; instead they would rise to 0.209. These projections included some adverse
labor supply and savings responses.
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Choosing Between Tax Increases and Benefit Cuts. Given that tax
increases or benefit cuts appear necessary to restore the system to solvency, does
analysis provide any guidelines as to what mixture of the two would be desirable?
The answer to this question depends on the economically optimal size of the Social
Security system, which in turn depends on the tradeoff between the system’s costs
and benefits® The smaller the system, the less it is able to alleviate the market
failures it was designed to cure — mora hazard, adverse selection, incomplete
insurance markets, and failure of optimization. The larger the system, the more it
distortslabor and saving decisions. Higher taxes have negative substitution effects,
while benefit reductions have none. Thus, in economic models, benefit cuts would
typically lead to better macroeconomic outcomes than higher taxes because there
would be no negative effect on saving and labor supply.

Because evaluation of the costs and benefits of Social Security is so deeply
embedded in value judgements, the optimal size of the system must ultimately be
determined through the political process, and cannot be evaluated in thisreport. If
the current sizeistoo large, areform should be directed more to a benefit cut, with
private saving making up the difference; if the current size is too small, a reform
should be more directed to atax increase.

If the current system isassumed to already bethe optimal size, however, at least
somerational eexistsfor providingamixtureof relatively small benefit cutsandlarge
tax increases. If individualswant to smooth the effects of reform over their lifetimes
after reform is completed and adjusted to, they might prefer a roughly proportional
effect on their standard of living. Since Social Security benefits are alarger fraction
of retirement income than Social Security taxes are of workers' income, it could be
argued that much of the adjustment might be made in tax increases. As an
illustration, consider a case with a 10% contribution during a working period of 45
years, to finance an annuity for a retirement span of 10 years. Assume a 6% rate of
return and a 2% growth in wages. If the retirement span doubled to 20 years, one
could either increasethe contribution by 55% or decrease the annual annuity by 35%.
Suppose, however, one desired a proportional decrease inincome for al years. To
accomplish that would require atax increase of about 47% and an annuity decrease
of 4.7% — most of the adjustment (85%) would come on the tax side. The share
allocated to taxeswould still be significant if the Social Security annuity represented
only part of retirement income. For example, the average share of retirement income
from Social Security is51% for singles and 37% for married couples.®* With these
shares, the tax adjustment would be between about 2/3 and about 3/4 of the total
adjustment, respectively (rather than 85%). This relative shift away from tax
increases to benefit cuts occurs because a change in benefits now constitutes a
smaller portion of overall retirement income.

# 1t can be argued that the solution to the system’ sfunding crisisis not primarily an equity
argument. If higher taxes or lower benefits affect the same people (at different pointsin
life), then there is no equity rationale for favoring one approach over the other.

% Social Security Administration, Office of Policy, Income of the Population 55 and Ol der,
Feb. 2002.
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Of course, to the extent that the cause of the crisis is greater longevity,
individuals might also prefer adelay in retirement age (which is characterized above
asaretirement benefit reduction, but which a so increasesthe revenues availablefor
benefits). In the illustration above, retirement would need to be delayed by about
four years to maintain benefits. If increased longevity were accompanied by
increased health during the foregone retirement years, then an increased workspan
might also be an optimal solution. Nevertheless, it would be problematic for those
whose health does not permit alonger working period.®

In sum, what this life cycle discussion suggests is that if Social Security were
initially set at optimal levels, only a relatively small portion of an adjustment to
reflect longevity should be in the form of a general benefit cut, and most of the
adjustment should take place in either higher taxes or higher retirement age.

Investing the Trust Fund in Higher Yielding Private Assets

Oneproposal intended to aleviatethe Social Security problemistoinvest funds
in higher yielding assets. Although most often associated with the devel opment of
individual accounts, other proposals have suggested that such investments be made
by the trust fund itself instead. In either case, the results would be the same.

The key to whether this strategy provides any net national benefit rests on
whether it is debt financed. If the investments were funded by raising taxes or
lowering government spending, they will result in higher rates of capital
accumulation, which would increase the future size of the economy and increase
future resources. But if the investments were financed through the issuance of
government debt or the use of existing surpluses, the exercise amounts to a mere
shifting of assetsinto different portfolios. Since this shift resultsin no increase in
net national savings, there would be no increase in the total capital stock, and the
exercise would not create more resources for the nation as a whole. As will be
shown in the simulation below, diverting funds out of non-marketable Treasury
bonds and into equities would decrease returns to other investments and raise the
government borrowing rate. Much of the improvement in the system’s finances
would be offset by higher interest paymentsin the overall government from the debt
issued to finance the trust fund's investments. Moreover, increases in the cost of
government debt would further increase the budget deficit. To the extent that the
system’s equities earn a higher rate of return than the government must pay on its
additional debt, the government’s overall finances would have improved at the
expense of a burden placed on anyone who holds private equities, including the
retired.®

% One solution would be to shift more workerswith poor health near normal retirement age
into the disability program. Another solution would be to increase the normal retirement
age, continue to allow early retirement with a reduced benefit on average, but provide
subsidies to permit maintaining a minimum benefit so that these individuals are not thrust
into poverty.

% An extensiveliterature describesthe presence of what economists call an equity premium
infinancial markets. That is, the spread between the returns on equities and the returns on
(continued...)
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Assuming the fund remained a defined benefit plan, any risk of lower return
would also need to be made up, presumably by higher taxes. Estimatesthat find that
investment in equities improves trust fund balances are based on expected returns.
The variance of financial markets implies that in reality returns on assets could be
higher or lower than their expected return. For example, one study found that if
equity markets continued to perform asthey have historically, thereisagreater than
25% chance that the value of atrust fund invested in equities would be lower after
10 years than if it were invested in government bonds, as it is now. Over longer
periods of time, however, the probability diminishes: after 75 years there is aless
than 1% chance that the equity-invested trust fund would have alower value.*

Numerical Simulation. A simulation will illustrate how investment by the
trust fund affects financial markets and the government budget. In a simple model
with only one type of debt and equity, the effects of shifting from holding debt to
equity is clear, and the gain in earnings will be divided into an offsetting rise in
government interest payments, and afall in the return on equities. (Thisfall inthe
return on equities also reduces the return on trust fund assets, although this is a
second order effect for a small change.) The same results would occur if the
government introduced individual accounts with debt financing, and the accounts
were invested in the stock market.

Moreover, one can estimate the basic magnitude of the effects (as discussed
briefly in the appendix, using 2000 asset shares), which depend on the willingness
of business to substitute debt and equity and the willingness of individuals to
substitute in their portfolios. (The degree of willingnessis called an elasticity; it is
the percentage change in the ratio of assets divided by the percentage change in the
ratio of asset returns.) The smaller these elasticities are, the larger the effect on
government borrowing. For example, if both elasticities are 0.3 (and there is some
evidence to support small elasticities®), then 45% of equity earnings will show up
asan offsetting increased cost of borrowing, so the government asawholegainsonly
about half of theamount projected. Thepublic, initsroleasaprivateinvestor, loses
the remaining 55%. The amount that shows up as higher interest costs falls as
elasticities rise, becoming 12% at elasticities of one.

% (...continued)

bonds is larger than can be explained by models which attempt to weigh the tradeoff
between risk and return. If the equity premium does (still) exist and it is caused by afailure
to optimize, investment by the Social Security system (centrally or through individual
accounts) has the potential to lead to an improvement in social welfare. By contrast, if the
equity premiumistheresult of other factors (e.g., transaction costs) or mis-specification by
economists, then there will be no increase in social welfare. Even if socia welfare was
increased, the reduction in the equity premium would still, by definition, lead to the same
relative reduction in rates of return.

3 Amy Harris, Noah Meyerson, and Joel Smith, “Social Insecurity? The Effects of Equity
Investments on Social Security Finance,” paper presented at National Tax Association
Symposium, Apr. 2001.

¥ SeeJaneG. Gravelle, The Economic Effects of Taxing Capital Income (Cambridge MA:
MIT Press, 1994), p. 84 for a summary.
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Thismodel is highly smplified, and one of the most important simplifications
isthat it assumes only two assets. The model would bericher if assetswere divided
into riskless government debt, risky private debt, and equities. The results for a
three-asset model are presented in Table 1. As before, the outcome depends on
assumptions about elasticities of substitution: the degreeto which firmsarewilling
to substitute debt for equity in their demands for capital (F), the degree to which
individuals are willing to substitute debt for equity in their portfolios (g) , and the
degreetowhichindividualsarewilling to substitute government for private debt (S).
Thelimited evidence we have suggeststhat debt and equity are not perceived asclose
substitutes and we set those elasticities relatively low; we assume, however, that
private and public debt isamuch closer substitute and set those el asticitiesrel atively
high.

Table 1: Effects on Earnings, Federal Interest Costs and Rates
of Return from Investing Trust Fund Assets in Equities,

Simulation
Valuesof F, g, Increased Increased Percent Increasein Private Interest
and S Earnings of Federal Rate (I,,), Equity Return (E),
Trust Fund (or Interest, as % Government Interest Rate (l,) and
Individual of Col. 2 Total Private Return (R)
Accounts)
(% of GDP)
Ip E Ig R
0.3,0.5,20 0.2136 59.0 -5 * 56 -1.1
0.6,0.5,2.0 0.2150 55.0 -7 * 53 -1.1
0.3,0.8,20 0.2155 59.0 -5 * 56 -1.1
0.3,05,15 0.2136 89.0 -5 * 85 -0.3
0.3,0.5,25 0.2136 43.0 -5 * 41 -1.5
0.3,0.5,1.01 0.2135 163.0 -5 * 156 18

Sour ce: Author’s Calculations.

Notes: F, g, and Srefer respectively to the elasticity of substitution between debt and equity by firms,
the easticity of substitution between equity and a composite of government and private debt in
individual portfoliosand the substitution between private and government debt inindividual portfolios.
Results based on 2000 asset shares. See appendix for model details.

* Less than 1%.

The results suggest that the substitutability between government and private
debt isan important factor in determining whether the benefit of higher returnswith
a shift to equity primarily results in a decline in private returns or an increase in
government interest payments. In the simulation, the effect on the return to equities
themselves, is relatively small. With that elasticity set at 2.5, interest costs rise by
43% of the gain in the return to the trust fund, while the remaining 57% appearsin
adeclinein private returns, mostly through a decline in private interest rates. With
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an elasticity of 1.01, interest costs rise by more than the gain in trust fund earnings
and private returnsrise.

Thismodel isnot definitive, but rather illustrative. It suggeststhat a potentially
significant amount of the gainin earnings would be offset by an increased burden on
taxpayers through higher interest rates. The results are the same whether assets are
accumulated centrally by the government or in individual accounts, although in the
latter case the investment returns would flow to account owners while the debt
payments would be borne by the government.

Individual Accounts

Perhapsthe most sweeping changeisaproposal that Social Security move away
fromits collective, defined benefit format towards a system of defined-contribution
individual accounts. Were these accountsto completely replace the current system,
then the PAY GO system would be replaced by afully funded system.

Other advocates have argued that individual accounts should augment rather
than replace the current system. One of the key differences anong competing
individual accounts proposals concerns whether they would be “added on to” or
“carved out of” the current Social Security system’s tax and benefit structure. But
pursuing either of these approaches alone would not reduce the system’ s unfunded
liabilities. Add-on accountsthat useadditional revenues(intheform of higher taxes,
general revenues, or voluntary contributions) tofinanceindividual accountsbut leave
the current benefit structure of the system intact would not alter the system’ sfuture
financingimbalance. Likewise, proposalsfor carve-out accountsthat divert revenues
from the payroll tax into individual accounts, and then lower benefits paid by the
system to offset the diverted revenues only reduce the system’s unfunded liabilities
to the limited extent that the benefit offset is greater than the diverted revenues, as
explained below. The unfunded liabilities can only be significantly reduced by
raising (*adding on”) taxeswhile hol ding benefits constant or cutting (“ carving out”)
benefits while holding taxes constant.*

The objective of the following discussion of individual accountsis to analyze
the claimed merits of individual accounts, as well as explaining some of their
disadvantages. For analytical clarity, we consider the economic effects of a
hypothetical proposal to move completely from the current PAY GO system to a
fully-funded system of pureindividual accounts. (Thereport’sconclusionsapply to
specific proposalsonly where explicitly noted.) Oncethe costsand benefitsof apure
system have been identified, one can evaluate whether specific costs and benefits of

% From an economic perspective, carve-out accounts would be unlikely to significantly
affect public or private saving. Add-on accounts, however, could lead to someincreasein
national saving, and hence economic growth, but only if they did not supplant private
saving. This would be the case for individuals who under-save. For individuals who
planned their saving through optimization and were not liquidity constrained, add-on
accounts would strictly supplant private saving unless they were subsidized, in which case
they would instead reduce public saving.
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amixed system are attributableto itsindividual accountsor itsgovernment-provided
PAY GO portion. A mixed system could address some of the market failures and
socia goals that a pure system of individual accounts could not, but would also
reduce the benefits stemming from individual accounts. First, we begin by
discussing a claim commonly made for individual accounts: that rates of return are
larger than the return in the Social Security system and that these higher returns can
help achieve solvency.

Rate of Return Comparisons

Thereisno doubt that expected returnsare higher on private assetsthan benefits
under the current system. Yieldsfor current workersare expected to besmall or even
negativebecauseof thefall intheworker-retireeratio upon theretirement of the baby
boomers. But even setting this demographic problem aside, and considering a
sustainable steady state, if the economy is growing at areal rate of 2% per year, a
dollar paid into aPAY GO system over, say a 25-year period, would permit abenefit
payment of $1.64. A dollar invested in an individual account that yielded an
expected 8% return would be expected to permit a benefit payment of $6.85. Such
is the power of compound interest.

Thereare severa important problemswith thisargument. The one noted inthe
previous simulation holdsfor individual accounts aswell: without anincreasein the
capital stock, there can be no net gain to society. Gainsin individual accounts will
be offset by losses to other investors and to the rest of the government budget. By
our calculations, it is certainly possible for haf or more of the apparent gain from
investing in equitiesto appear as an added interest cost in the general budget. While
an individual account may appear to outperform Social Security, society asawhole
(including individual account holders) cannot escape the unfunded liabilities of the
current system.

There are other reasonsthat Social Security cannot earn amarket rate of return.
First, over one-third of contributionsfinance benefitsfor thedisabled, survivors, and
dependents. Contributions also redistribute income to lower income recipients.
Second, individual accountsarelikely to have higher administrative coststhan Social
Security. Finally, the risky returns offered by individual accounts cannot be
meaningfully compared to the safer returns offered by Socia Security since people
willingly accept lower returns to avoid risks.

The economy-wide benefit to individual accountswould not comefromtherate
of thereturn that they earned. It would come from the stronger link between benefits
and contributions that should reduce or eliminate the distortions arising from social
insurance, such as effects on labor supply and savings. These distortions may not be
completely eliminated aslong as there are mandatory componentsto the system and
some individuals save more than they would otherwise prefer. But in general they
should reduce distortions in private decisions to work and save.

Transition Costs. Furthermore, areform plan based onindividual assetswill
haveto deal with the cost of paying off currently accrued obligations and making the
transition to a funded system. This effect is far from trivial. Suppose all
contributions wereimmediately shifted into individual accounts but the system was
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committed to make no one who had already participated in the system worse off.
Existing retireeswould still haveto receive benefits, and working individual swould
have to pay close to the existing 12.4% payroll tax, as well as set aside their new
contributions, to finance those benefits. These payroll tax dollars would earn no
return, even of principal, for their contributors.

What if amixed system were introduced that diverted some of the payroll tax,
say 2%, into individual accounts and used the rest to pay current benefits? Would
this allow the future funding crisis to be diverted without tax increases or benefit
reductions? To makethiseval uation more concrete, weanalyzethe budgetary effects
of the proposal's of the President’ s Commission to Strengthen Social Security, based
on the official estimates of the Social Security Administration (SSA) actuaries. The
estimates makeit clear that introducing 2% individual accountswithout introducing
anew stream of revenue to finance them would not prevent a funding crisis.®

The President’s Commission on Social Security proposed three such plans. In
Option 1, workers under 55 could elect to deposit 2% of their OASDI taxable
earningsin an individual account, with an offsetting reduction in benefits based on
diverted amounts compounded at areal rate of return 3.5%. It isthe only option that
relies solely onindividual accounts. In the second, the amounts diverted were 4%,
up to $1,000 per year, of taxable earnings with benefits offset by compounding at a
real rate of return of 2%. Thisplan also included a benefit cut: to slow the growth
of benefits by indexing to pricesrather than wages. Option 3 allowed the diversion
of 2.5% of earnings not to exceed $1,000 plus a required additional 1% of taxable
earningsfor which arefundabletax credit would bereceived. Thediverted amounts
would reduce benefits, compounded at areal rate of return of 2.5%. Accordingtothe
trustees, Options 2 and 3 lead to asignificant long-termimprovement (but short-term
deterioration) in the system’s finances, while Option 1 does not.** None of the
reforms achieve solvency according to this report’s definition, however.

Figure 3illustratesthe effect of introducing individual accounts on theincome
and costs of the Social Security system as a percentage of taxable payroll.** The
estimates are based on the introduction of individual accounts under the Option 1
plan of the President’s Commission on Strengthening Social Security. Option 1
makes the effects of individual accounts clearest because it is the only option that

“0 See al so Peter Diamond and Peter Orszag, “ Reducing Benefitsand Subsidizing Individual
Accounts: An Analysisof the Plans Proposed by the President’ s Commission to Strengthen
Social Security,” Center for Budget and Policy Prioritiesand the Century Foundation, June
18, 2002.

“! For the sake of brevity, many of the details of the commission’s proposals are omitted
here. For a detailed description of the commission and its proposals, see CRS Report
RS21095, Social Security: Report of the President’s Commission to Srengthen Social
Security, by Dawn Nuschler.

“2 This graph does not illustrate the overall income and cost rates under a system of
individual accounts, but rather the change in income and cost rates caused by the
introduction of individual accounts. Thus, the future financing crisisis not averted if the
proposals generate additional revenues. Itisonly averted if the proposals generate enough
additional revenuesto cover the entire financing gap.
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does not include benefit cuts. Roughly 40 years after the introduction of individual
accounts, when enough retirees had spent their entire career making contributions,
the accounts would indeed allow alarger reduction in Social Security benefits than
the revenue lost from a 2% marginal payroll tax cut.”®* Over time, the savingsto the
government would get larger and larger and eventually become quite significant.
Unfortunately, for thefirst 40 years after the introduction of individual accounts, the
accounts would generate less revenue than was being diverted from beneficiaries.

Figure 3: Change in Social Security’s Finances From
Introducing 2% Individual Accounts
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Sour ce: Chief Actuaries of Social Security Administration, Memorandum to President’s
Commission to Strengthen Social Security, December 2001, p. 53.

Notes: Estimates based on Commission’s Option 1 reform plan of an individual account
with contributions equal 2% of payroll and a66.7% participation rate. It assumes accounts
areintroduced in 2004.

Thus, individual accounts would exacerbate the financing problems of the
Social Security system for roughly 40 years, but improve the system’ sfinancesfrom
that point on. Whether this is desirable can only be determined by judging their
effect on the economy and government asawhole. And such accountsimprove the
government’s overall finances and nationa saving only if the revenue shortfalls

8 This graph does not illustrate the revenue generated to the individuals who own the
individual accounts. It illustratesthe reduction in benefitsthat the government is obligated
to pay because Social Security benefitsare offset by an amount equal to the diverted payroll
tax compounded at a 3.5% real rate per year.
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caused by them in the first 40 years of their existence are financed through tax
increases or benefit reductions. In this case, the improvement in the government’s
finances could be calculated by compounding the rising line in Figure 3 (reduction
in cost rate). By contrast, Figure 4 illustrates the effects the accounts have on the
unified budget balanceif the accounts are debt financed (i.e., introduced without an
accompanying source of financing). As explained in the introduction, the effect on
the unified budget balance isthe most meaningful measure becauseit isthe only one
that clearly identifies the cost of reform to the government as a whole. It may
surprise some readers to see that individual accounts, if debt financed, still generate
less revenue than the current system for the entire 75-year projection window. In
other words, debt-financed individual accounts worsen Social Security’ s financing

Figure 4: Change in the Unified Budget Deficit From Debt-
Financing 2% Individual Accounts
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crisisfor the next 75 years.

Sour ce: Chief Actuaries of Social Security Administration, Memorandum to President’s
Commission to Strengthen Social Security, December 2001, pp. 53-54.

Notes: Estimates based on Commission’s Option 1 reform plan of an individual account
with contributions equal to 2% of payroll and a 66.7% participation rate. It assumes
accounts are introduced in 2004.

Since the private assets in individual accounts are growing through the
accumulation of interest, these results may seem puzzling. Although the assetsin
individual accountsare growing through the accumulation of interest, the debt i ssued
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by the government to finance the accounts is also growing because of interest
accumulation. Theindividual accounts offset government benefits at a higher rate
of return than the interest payments on government debt, so eventually (outside the
75-year window) the individual accounts save the government money. But because
so much debt must be issued immediately, it takes more than 75 years before the
accounts pay for themselves. In fact, the actuaries of the SSA make two sets of
assumptions, both of which are illustrated in Figure 4. Since the accounts are
voluntary, they estimated the costs under the assumptions (1) that 66.7% of eligible
individual select to participate, and (2) that 100% el ect to participate. Comparingthe
results under the two assumptions leads to a surprising result: the best way to limit
the costliness of debt-financed individual accountsisto reducethe participation rate.

The President’s Commission on Social Security made it clear that Option 1
would not avert a future financing crisis. For that reason, it also proposed two
further options that coupled the introduction of individual accounts with benefit
reductions. These two options, it asserted, would make Social Security solvent. In
both cases, the actuaries of the SSA believe that a 66.7% participation rate is most
likely, and thefigures below are based on thisassumption. Thereformsdo not make
the system solvent, however, if solvency is defined as the avoidance of cash deficits
throughout the 75-year forecast window; both proposal swould greatly reducethesize
of the deficitsin the second half of the projection window, however. Under Option
2, the system would generate cash deficits from 2010 to 2059. Under Option 3, it
would generate cash deficits from 2014 to 2072. In other words, additional
unidentified funding would need to be found to pay benefits promised under reform,
and this funding would ultimately come from further tax increases or reductionsin
benefits or other government spending. However, these options do achieve solvency
if solvency is defined as achieving a cash surplus at the end of the forecast window.
This means that — unlike reform proposal s that achieve 75-year trust fund balance
— they do not result in renewed crisisin 76 years.

By examining Figures 5 and 6, which illustrate the effect these options would
have on the unified budget balance, one can see that if the individual accounts are
debt financed, only the benefit reductions are responsiblefor theimprovement in the
system’ sfinances.** Indeed, amuch larger improvement in the system’ sfinancesis
possible if the individual accounts were excluded from Option 2 and 3 and only
benefit reductions were made (assuming the proceeds were saved). In other words,
the system’s finances could be improved to the same degree with smaller benefit
reductions than recommended in Option 2 and 3 if individual accounts were not
implemented.

“4 Although the benefit reductions in Options 2 and 3 grow significantly over time, for the
first half of the projection window they would generate insufficient budgetary savings to
finance theindividual accounts. For that reason, the creation of individual accountswould
result in an increasing debt for roughly the first half of the projection period unless taxes
were increased or other government spending were reduced.
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Figure 6: Change in Budget Deficit
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Sour ce: Chief Actuaries of Social Security Administration, Memorandum to President’s
Commission to Strengthen Social Security, December 2001, pp. 57-58.

Notes: Estimates based on Commission’s Option 2 and Option 3 reform plan with 66.7%
participation rate and contribution rates equal to 2.39% and 1.97% of taxable earnings,
respectively. It assumesindividual accounts are introduced in 2004 and are debt financed.

Throughout this discussion, the report has focused on the effect of individual
accounts on the government’s finances. This may seem at odds with many other
evaluations of individual accounts which center on whether there are gains to the
worker. But the effect on the government’ sfinancesis quite separate from the effect
on the worker. Government finances are affected because the benefits the
government must pay are reduced by the presence of individual accounts (e.g., in
Option 1, benefits are reduced by the amount of tax redirected to the account
compounded at areal rate of 3.5%). The potential gainto theindividual comesfrom
the fact that the accounts are expected to be worth more than the amount the
individual has lost in reduced benefits (e.g., under the assumptions of the SSA
actuaries, the accounts would earn a real rate of return of 4.6% whereas benefits
would bereduced by 3.5%in Option 1).* Debt financed accountswould only result
inan (eventual) cash-flow improvement in government financesif the compounding
factor used in the benefit offset is greater than the interest rate on government debt.
Thisisnot the casein Option 2 or Option 3, which call for offsets with real interest
compounding factors of 2.0% and 2.5%, respectively, compared to a 3% rate of
return on U.S. Treasuries.

The reason this report focuses on the effect on government financesis that the
system’ s crisis centers on the fact that the government does not have enough money
to pay promised benefits. In preventing that crisis, estimating thegaintoindividuals
islargely irrelevant. Individual accounts could earn rates of return of 100% a year,
but if they did not offset government-provided benefits, then the funding shortfall

> Notethat the SSA estimates do not takeinto account the negative effects on rates of return
that portfolio shifts may cause, as suggested in the numerical simulation above. Thus,
individual accounts may have alower return than the SSA estimates suggest for any given
portfolio.
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would be the same, and the same unidentified financial sacrifice would need to be
made in the form of higher taxes or lower benefits. Furthermore, even if areform
proposal reduced the system’ sunfunded liabilities, if it did not eliminate them, then
further unspecified sacrifices would have to be made at some point. Since those
unspecified sacrifices would need to come from the same workers possessing the
individual accounts, calculating therate of return on the accountsgivesonly apartial
picture of the proposal’ s overall effect on the individual.

Social Security’s Social Functions. Asdiscussed above, only 62% of the
current system’s income is paid out to retired workers. The other 38% is paid to
disabled workers (13%), survivors (19%), and dependents (6%). These paymentsfor
“social functions’ directly lower the “rate of return” available to hedlthy single
retired workers. One, therefore, should make sure that, in comparisons, these social
functions are being included in any comparisons of the return on social security and
individual accounts. For example, if onecontracted toinvest and purchasean old age
annuity, one would not be covered for disability or insurance payments for early
death; the purchase of such insurance would use some of the investment that could
grow in the annuity.

In addition, the“rate of return” availableto wealthier retireesislowered further
because of the system’s progressive benefit formula. The degree of this
redistributionisnot certain, because of offsetting factors. Higher incomeindividuals
tend to have larger ratios of retirement yearsto working years, largely because they
live longer. They also tend to enter the workforce later because of more extensive
schooling. Moreover, the distributional effect depends on whether one examines
families or individuals. Higher income men who marry wives who do not work
outside the home (atypical event in the past) receive benefitsfor their wivesthat are
proportional to their own benefit levels, and if one includes these benefits, high
income families have a higher return.

Another regressive feature of the current Social Security system is the tax
treatment of benefits and payroll contributions. If Social Security isthought of asa
retirement plan, contributionsare (like other retirement plans) subsidized throughthe
tax system compared to other investments. Thereisasubsidy because contributions
made by employers are not subject to individua income tax at the time of
contribution and because “earnings’ (benefitsin excess of contributions) are taxed
only when received, and then taxed only partially. Socia Security benefits are taxed
differently from pensions, however. A fraction of Social Security benefitsis taxed
when income exceeds certain levels, with individuals with relatively high incomes
paying tax on 85% of benefits, low income individuals paying no tax, and some
individuals faling in between. Currently about two-thirds of al individuals do not
pay atax but the number covered will grow absent legislative change because the
exclusions and phase-outs are not indexed. Pensions are taxed in a way that
explicitly permits previously taxed benefits to be excluded (and many pension
systems allow full exclusion of contributions from the income tax base).

Even though there are no aggregate assets in a PAY GO transfer system, there
is a return from the perspective of the individual since benefits typically exceed
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contributions.*® Thesetax benefitsfavor higher incomeindividuals, and the subsidy
per dollar of payroll tax is more pronounced, other things equal, the higher the
individual tax rate, the longer the holding period and the higher the rate of return.
Benefits are positive at any reasonable rate of return, and are also larger in absolute
value for higher income individuals because they have larger contributions. Table
2 shows the ratio of end-of-period value from an investment receiving Social
Security’s tax treatment compared to an investment subject to a normal tax for a
variety of returns (including holding periods), depending on whether benefits are
taxed. The current system offsetsthese effectsthrough both direct redistribution and
exclusons from benefit taxation, the latter of which favors middle income
individual s but not the poor, whose ratio is one (i.e. who would pay no income tax
in any case because of the income tax system’ s regular exclusions).

Table 2: Percentage Increase in Benefit Due to Social Security’s
Tax Treatment Relative to Taxable Private Savings

Per centage I ncrease in Benefit for:
Income Tax Asset Held for 35 Years Asset Held for 20 Years
Rate
0% 5% 10% 0% 5% 10%
Yield Yield Yield Yield Yield Yield
15%
No Benefit 8.8 39.9 76.0 8.8 25.6 43.2
Tax?
85% -5.1 22.2 535 -5.1 9.6 25.0
Taxed’
25%
No Benefit 16.7 77.4 160.8 16.7 48.2 84.8
Tax?
85% -8.2 39.7 105.4 -8.2 16.7 455
Taxed”

Sour ce: Author’s calculations.

Note: Calculated as [0.5/(1-t) + 0.5][1-0.85at]{ (1+r)/[1+r(1-t)]} " - 1 where t isthe tax rate, r isthe
yield, T isthe holding period and ais equal to zero with no benefit tax and one if 85% of benefit is
taxed.

a. Assumes no part of Social Security benefits are taxed.
b. Assumes 85% of Social Security benefits are taxed.

“ Asexplained above, therate of return on contributionsto aPAY GO system would
average the economy’ s growth rate in the steady state.
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A pure system of individual accounts would, therefore, tend to favor higher
incomeindividualsif the current Social Security system’ stax treatment wereapplied
to those accounts. Therelative subsidy to higher incomeindividualswould increase
in the post-transition period as rates of return rise and the benefit exclusions are
eroded through inflation. This tax subsidy differs from that of IRAs, which have
fixed dollar rather than percentage-of-wage limits (constraining the benefit for high
income individuals); the treatment is more like that provided for private pensions.
Onecould offset that effect by withdrawing favorabletax treatment (taxing employer
contributions and taxing account earnings as accrued) or by introducing offsetting
subsidies, such as higher contribution levels or government matching contributions
for low income individuals.

When all of these factors are taken into account, the magnitude of the
distributional effects of the current system are not entirely clear.*’” Nevertheless,
these observations suggest that individual accounts would place lower income
individual sat adisadvantage compared to the current system becausethey wouldlose
the explicit redistribution in the current system. It is also possible that they would
place low income individuals at a further disadvantage if their tax treatment were
similar to the current system, unless the accounts were subsidized by earnings. At
the same time, because the poor do not live as long, individual accounts would
maintain one of the redistributional disadvantages of the current system if
beneficiaries were forced to annuitize (for the reasons discussed bel ow).

Some proponents of the current system base their opposition to individual
accounts on the fact that these social functions could not be incorporated into
individual accounts — “ownership” of assets is incompatible with horizontal and
vertical redistribution. Whilethat istrue, these social functions could be carried out
through new government programs that were financed through general revenues.®
What should berealized isthat acomparison between therate of return offered under
the current system, which fulfills several social functions in addition to “paying
back” workers “investments’ (payroll taxes), and the rate of return under an
individual account system that does not finance such socia functions is invalid.
Stated differently, dropping Social Security’ s social functions would be one way to
reduceitsunfunded liabilities, but the optionisnot predicated on moving to asystem
of individual accounts.

Administrative Costs. Another factor reducing therate of return that could
be achieved by asystem of individual accountsisthe administrative coststhat nearly

47 See Karen Smith, Eric Toder, and Howard lams, “Lifetime Distributional Effects of
Social Security Retirement Benefits,” presented at thethird Annual Joint Conferencefor the
Retirement Research Consortium, “Making Hard Choices About Retirement,” May 17-18,
2001, Washington, DC., who find that the current system favors the lowest income group
and projects redistribution to increase in the future under current policy. However, their
paper does not consider the distributional effects of tax treatment.

“8 Survivor and disability benefits could be partially incorporated in a system of individual
accounts through bequests and annuities. Maintaining the level of benefits available under
the current system would require government subsidization, however. For example,
personal accounts could not replace current survivor benefits when death comes before
retirement age.
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al analysts agree would be higher than under the current system. Administering the
system would be significantly more complex than the current system — individual
account balances would need to be tracked, funds would need to be transferred
between investment portfolios upon request, assets would need to be bought and
sold, and so on. There is both an explicit cost to consider, in terms of the fees
charged by the system’s administrator (or funds appropriated if the system were
administered by the government) and the implicit cost to employers and employees
in terms of more complicated paperwork and higher compliance costs. The more
choice that was allowed in the system, the higher the administrative costs would be.

The administrative costs of the current system equaled 1% of benefits paid in
2000. MIT economist Peter Diamond believes that the administrative costs of
individual accountscould runfour to fivetimesashigh asthe current Social Security
system.* The Thrift SavingsPlan’ s(TSP) administrativecostsarefairly low. Asthe
retirement system for the country’s largest employer, however, the centrally-
administered TSP may enjoy economies of scalethat would be unavailableto private
sector firmsif individual accounts were administered competitively. The TSP also
offersrelatively little investor choice (participants choose among five passive index
funds). Thus, administrative costs could be higher for private firms than the TSP,
and this additional cost would directly reduce the benefits paid to retirees.

Can Individual Accounts Fulfill the Objectives of Social
Insurance?

Asexplained above, the economic rationale for Social Security restsin part on
the presence of adverse selection, moral hazard, incompl ete generational insurance
markets, and non-optimization in the market for retirement planning. This section
explores the restrictions that would need to be placed on individual accounts to
correct for these factors. Without these restrictions, there would be no economic
advantageto the government provision of individual accountsand retirement choices
could be better |eft to the market. Inthelatter case, the government could pay off the
outstanding obligations of the existing system and leave individuals on their own.

Restrictions on Choice. Many of theargumentsfor individual accountsand
issuesintheir designrevolve around how much choiceindividualsshould have over
their individual accounts. Many see an expansion of choice as acompelling moral
argument in favor of individual accounts, compared to what they judge to be the
paternalistic nature of Social Security. They arguethat individualsshould be ableto
choose how to deal with their own contributions. whether to participate, what to
invest in, and whether to annuitize or withdraw their assets as they desire.

On the other hand, if the purpose of Social Security isto correct for the adverse
selection, moral hazard, and non-optimization, then these restrictions on choice are
fundamental to the system. They include not only mandatory participation, but also
mandatory annuitization, restrictions on account withdrawals, and restrictions to
ensure that investments are prudent. The problem isnot only the lack of actuarially

49 peter Diamond, “Administrative Costs and Equilibrium Charges with Individual
Accounts,” working paper, Mar. 2000.
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fair annuities, but also the possibility of free riders who do not save and rely on
welfareto support theminold age. Inasense, choiceisinfundamental conflict with
the basic economic reason for social insurance.

Partial restrictions, such as requiring individuals to save but not annuitize,
would also run afoul of both adverse selection and moral hazard issues. Adverse
selection would lead to smaller annuities for those who take them, and till allow
individuals to spend down their assets and then rely on welfare. As a simple
example, in an economy where half of theindividualslivefive yearsand half live 20
years after retirement (assume all individuals know their own life span), an average
monthly actuarially fair mandatory annuity would pay $970 per $100,000 of assets.
If annuitieswere made voluntary, theindividualswith five-year life spanswould not
purchase an annuity and the annuity would fall to $454 per $100,000 of assets. But
the need for mandatory annuities to avoid moral hazard and adverse selection aso
meansthat it would beimpossibleto rely completely on individual accountswithout
higher income individuals and women enjoying higher rates of return, on average,
than lower income individuals and men since the latter have shorter life spans.

Minimum Benefit Guarantees and Moral Hazard. To reproduce Social
Security’ srole as a dependable, safe portion of an individual’s retirement portfolio
(or for others, the only significant source of retirement income), some individual
account advocates have suggested that the government should “guarantee” a
minimum benefit to retirees in case their accounts suffer investment losses. It can
be argued that such provisions, in effect, would defeat the purpose of individual
accounts, whichisto allow individualsto shoulder morerisk if they desire and offer
them more control over their retirement saving. Furthermore, many proponents of
individual accounts state that individual accounts could help fund the system’s
unfunded liabilities by achieving higher rates of return. The introduction of a
minimum benefit guarantee would make stand alone rate-of-return comparisons
misleading because these guarantees pass on the benefits of higher returns to the
retireewhileleaving thegovernment with the sameliabilitiestoretireesasthe current
system.

In fact, the guarantees would increase the potentia liabilities of the current
system because of moral hazard. If individualsreceived all of the benefitsof holding
high risk/return assets, but assumed few of the risks (because they were guaranteed
aminimum benefit), then they will shift their portfolio towards riskier assets than
they would otherwise desire. This choice increases the expected value of liabilities
to the government, since the presence of moral hazard makesit more likely that the
government will have to pay minimum guarantees.

The moral hazard problem can be reduced — but not eliminated — by placing
restrictions on investment decisions (e.g., limiting equities to, say, 60% of the
portfolio) for a portion of the portfolio, although this approach would run contrary
to the goal of promoting investment freedom. And the restrictions, by forcing
investors to hold lower risk/return assets, would reduce the expected return on
individual accounts and make their funding advantage over the current system less
favorable. Individual accounts that entirely eliminate risk without creating moral
hazard would have to be invested in much lower yielding assets than proponents
typically usein rate of return comparisons.
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Even without an explicit minimum guarantee, the government might feel
compelled to useother government programs, such as Supplemental Security Income,
Medicaid, or the food stamp program, to aid retirees whose life savings were lost.
Thus, the moral hazard problem may not be avoidable even in the absence of an
explicit guarantee because individuals may act in the belief that losses they suffer
would beimplicitly guaranteed for political reasons. If avoiding moral hazard isthe
motivation for individual accounts, however, why not maintain Social Security asa
PAY GO system of asmaller size (that covers only a minimum benefit) and leave
individuals free to make other investments if and when they choose? And while
higher spending on other programsisnot a“cost” to theretirement program, it isstill
acost to the government that lowers the funding advantage of individual accounts.

Should Annuitization Be Mandatory? Aside from the volatility risk
associated with privateinvestments, retireeswould face another risk with individual
accounts that they do not face with the current Social Security system: the risk that
they will outlivetheir assets, known as*”longevity risk.” Because one’ stimeof death
isuncertain, thereistherisk that retireeswill draw down their assetstoo quickly and
be left impoverished in their last days. This risk can be avoided through
annuitization, that is, through the exchange with a financia intermediary of one's
assets for a promised stream of income. Unfortunately, annuities can currently be
purchased in private markets only on termsunfavorableto retirees— on average, the
expected value of the annuity benefit can be 15%-25% lower than life expectancy
would suggest.* Since annuitieswould presumably bemoredesirableintheabsence
of the current Social Security system, the purchase cost might go down asthe market
grew, particularly if it reduced adverse selection. The only way to eliminate adverse
selection completely, however, would be for the government to make annuitization
mandatory. This would not prevent companies from attempting to “cherry pick”
unhealthy retirees from each other, however — either government provision or
regulation would be needed to prevent it.

The problem of moral hazard also argues for making annuitization mandatory.
Hereagain, the government would need to wei gh the benefitsof allowingindividuals
greater freedom of decision-making (e.g., the ability to spend a large amount of
wealth suddenly in response to a persona calamity) against the social desire to
prevent people from becoming destitute because they ran down their assets too
quickly. Evenif it werein aperson’s best interest to buy an annuity, he or she may
not do soif given the choice. And again, if annuitization were not made mandatory,
the government might feel obliged to use other government resources to prevent
individuals who had run down their assets from becoming destitute.

Y et mandatory annuitization introduces an element of risk that isnot present in
the current system: the problem of market fluctuations close to retirement
undermining the value of an individual account. If the market were to fall
dramatically before retirement, mandatory annuitization — particularly of accounts
invested in equities— would “lock in” that low market value, whereas individuals
might feel that they could regain some of that lost income as the market turned

% Congressional Budget Office, Social Security Privatization and the AnnuitiesMarket, Feb.
1998.
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around if they were allowed to hold on to their portfolio into retirement. (Of course,
their misfortune could be compounded if markets continued to fall.)

Should Bequests Be Allowed? With proponents stress on the
“ownership” qualities of individua accounts, a logical next question is whether
individual s should be abl e to bequeath the bal ance of their account to their heirsupon
death. Doing so would raise some problems. Since closing the current system’s
unfunded liabilitiesis one of the major justifications proponents raise for switching
to a system of individual accounts, it is important to note that bequests would
increasethe unfunded liabilities of the system. That isbecausethey would represent
anew set of benefits that do not exist under the current system. The current system
doespay survivor benefitsto spouses and dependents, and to the extent that bequests
partialy replaced those benefits, they would not represent a new liability. But the
ability to transfer benefits to a broader circle of heirs upon death — particularly in
the case of a premature death — is not possible under the current system and would
represent anew liability.

In a pure system of individual accounts, allowing bequests would reduce
annuities. For example, returning to our case where half of the individuals live for
fiveyearsand half livefor 20 yearsafter retirement, guaranteeing aminimum 10-year
stream of payments (with the heir to receive the payments in the case of premature
death) would reduce the monthly annuity from $970 to $807 per $100,000 of assets.
However, giving individuals a choice between alarger annuity with no bequest and
asmaller annuity with a bequest would re-introduce the adverse selection problem,
because healthy individuals would likely choose the former and sick individuals
would choosethelatter. Thisfeature would lead to smaller annuitiesfor the healthy
than in the absence of choice.

Risk: Collective Social Insurancevs. Individual Accounts. Individua
accounts differ from an aggregated system in the allocation of risk. There are
different types of risk that face individuals in planning for retirement: some are
unavoidablein any system, while some can be mitigated, or worsened, by collective
provision. Before examining specific types of risks, it is useful to ask how risk
affects individuals' preparation for retirement, both privately and through Social
Security.

What Is the Role of Risk in Social Insurance? Generally in investment
markets, higher rates of return can be enjoyed only by taking on greater risk. Thefact
that an aggregate social insurance system offers a relatively low return is not
necessarily an undesirable feature of the system; nor in a funded aggregate system
would a portfolio invested in low return/low risk securities (such as government
securities) necessarily be undesirable. For most individuals willing to set aside
adequate investments for retirement, Social Security is only one portion of their
investment portfolio and most individuals would like to have some part of their
retirement kept relatively safe. They are free to invest their private assets in more
risky ventures. Other individuals (who fail to optimize) do not set aside adequate
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retirement savings, for whatever reason. Becausethey arerelying primarily on Social
Security in their old age, astrong case can be made that it should remain risk-free.>

How do the higher ratesof return offered by individual accountsaffect thesetwo
types of individuals? For those individuals who save adequately, is the current
system keeping too much of their retirement income safe (and earning low returns)?
Or if giventhechoiceinanindividual account, would they place an equal proportion
of their overal portfolio in riskless assets? If that were the case, then the rate of
return on their individual account would be no higher than their overall portfoliois
at the present, after accounting for transition costs. For those individual swho do not
save for retirement outside of Social Security, should society allow them to expose
their individual accountsto greater risk (and return), knowingthat if they are unlucky
they will have no other private source of income to fall back on and that it will fall
to government transfer programsfinanced by all taxpayersto provide someminimum
level of subsistence?

Investment Risk. A move away from the current PAY GO system towards
individual accounts or trust fund investmentsin private assetsintroduces anew type
of risk into Social Security: the risk of investment market volatility. The two
approaches could theoretically distribute market risk very differently, however.
Some market risks can be reduced relatively easily, for example through portfolio
diversification (although it is not clear that all individuals reduce these risks
optimally in reality). There are other market risks that are more difficult to pool,
however, such asrisk acrosstime.

As explained above, a dollar invested in private assets by the Social Security
system would have the same rate of return as a dollar invested in the same asset
through anindividual account. Obviously, the sameamount of risk isassociated with
that investment in either case as well; losses associated with trust fund investments
would ultimately result in lower benefits or higher taxes. But thereisasignificant
difference in who bears the risk (and enjoys the profit) associated with any given
investment between the two systems. In asystem of individual accounts, the entire
risk isplaced on the individual who choseto makethat investment. Inasystem with
acollectively invested “trust fund” and benefits only indirectly tied to the system’s
income, those risks can be spread both among the members of ageneration (because
the system has “ defined benefits’ rather than “ defined contributions’) and between
generationsif the system is allowed to build up and draw down its assets over time.

Isthe differencein risk-bearing between the two systems significant? Table 2
demonstratesthat, if the stock market performsin the future asit hasin the past, the
historical difference in outcomes would have been extremely large.>® Historically,

1 Note that when using the term risk free, we are speaking of avoiding investment risk;
demographicrisksthat arecurrently affecting thereturnto Social Security, suchasincreased
life span, would affect any retirement plan, whether private or public.

*2 For more information on the resultsin Table 2 and results under aternative assumptions,
see CRS Report RL 31324, Social Security Reform: The Effect of Economic Variability on
Individual Accounts and Their Annuities, by Geoffrey Kollmann, Dawn Nuschler, and

(continued...)
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the stock market has frequently gone through long phases of doing extremely well
(e.g., the 1990s) or extremely poorly (e.g., the 1970s), and this would be fully
reflected inthe val ue of accountsaccrued during thosetimes. Thefirst column of the
table demonstratesthat if asystem of individual accounts had been in place between
1927 and 2001, the value of the account invested entirely in the Standard and Poor’ s
compositestock index would havevaried from 22.8% (for aretireein 1974) t0 97.8%
(for aretireein 1999) of the value of Social Security benefits, depending solely upon
the year in which the worker retired.>® Of course, individuals could reduce risk by
choosing a portfolio that mixed equities and bonds, but this would also reduce the
rate of return they could enjoy, as demonstrated in the second column. Infact, even
though risk would be reduced, more than 25% of the time the mixed portfolios of
stocks and bonds would have underperformed the worst performing year for the
portfolio of 100% equities.> This means that even if individual accounts matched
the benefits paid by Social Security on average, absent government guarantee
subsidies, some beneficiarieswould do much better than under Social Security while
others would do much worse.

Table 3: The Historical Performance of Hypothetical
Individual Accounts

Statistical Measure Per centage of Social Security benefit
replaced for account invested in:
100% Equities 60% Equities,
40% Bonds
Mean (Average) 49.1% 26.2%
Minimum 22.8 15.3
25" Percentile 41.0 20.6
50" Percentile 47.9 26.7
75" Percentile 55.6 313
Maximum 97.8 40.7
Standard Deviation 15.7 6.1

Sour ce: CRS Report RL31324, Tables4 and 12.

%2 (...continued)
Patrick Purcell.

% The table is based on workers who have typical work patterns that produce the Social
Security benefit of someone who always earned an average wage and who contribute 2%
of pay for 41 years to individual accounts. In the first column, it is assumed that the
accounts earn the same historical rate of return as the S& P 500 minus a 1% administrative
fee; in the second column, it is assumed that 60% of the portfolio earns the same rate of
return as the S& P 500 and 40% earns the historical return on long-term U.S. government
bonds. The table assumes that the amount accumulated in the account is converted to a
fixed lifeannuity based on the prevailing rate of interest onlong-term U.S. bonds. It should
be noted that volatility is higher if accounts are accumulated over shorter careers.

> Similar results are confirmed by Gary Burtless, Social Security Privatization and
Financial Market Risk, Center on Sacial and Economic Dynamics, Working Paper 10, Feb.
2000.
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Demographic Risk. Another type of risk that is already present in the current
system is demographic risk, which cannot be avoided since mortality will aways be
unknown. In Socia Security or individual accountswith annuitization, demographic
risk comes from dying before one has received the value of one’s contributions. In
individual accounts without annuitization, the demographic risk comes from
outliving one’' s assets. (Demographic risk could be avoided through annuitization
with bequests, but would result in smaller annuity payments.)

A demographic risk that is part of the cause for the current insolvency of the
system istheincreasein life spansthat is not anticipated in advance, and will leave
individual swith smaller retirement accumul ationsand potentially smaller retirement
incomes. Just as an individual facing such an increase must either save more or
accept a smaller retirement income (or delay retirement), asocia insurance system
must increase taxes or reduce benefits. Thus potential variability intaxesor benefits
(whichissometimes characterized as part of the“ political risk™) isnot arisk that can
be avoided with an individual account system. And the large increase in taxes or
decrease in benefits needed to restore the current system to solvency is still present
inany shift toindividual accounts. A pure system of individual accountswould still
have to alter contribution levels or benefits in the face of increasing life spans.
Another type of risk, changesin fertility, would not affect private accountsor afully-
funded social insurance system, but such changes might still affect privateretirement
incomesby alteringtheavailability of privateintergenerational transfers. Thus, these
risks would not be avoided, but rather would be addressed in different ways.

Political Risk. A final type of risk that many argue would be diminished by
individual accountsis political risk. Becausethereisno “ownership” of benefitsin
the current system, retirees and workers planning for retirement are always at the
mercy of legidlative change. Individual accountswould remove assets, income, and
benefit flows from the government budget and create individual “ownership” of
retirement benefits that would be less subject to manipulation through legidlative
changes. Asaresult, it might be more difficult to use surpluses in the retirement
system to finance other government spending. It is important, however, to
distinguish this political risk from actual risks such as demographic or investment
risksdiscussed above. Only political risk, which involves shifting benefitsand costs
among individuals, is zero-sum for society as awhole.

Political uncertainty isaparticularly compelling issue when one considers that
the current system is unsustainable because of anticipated life span and fertility
changes. At some point, either workers will see taxes raised or retirees will see
benefits reduced from their current level. Since much of the political risk revolves
around future uncertainty, the transition to a fully funded, pure individual account
system would also have the benefit of forcing the question of who will bear the costs
of reforming the system to be answered immediately. In other words, a pure system
of individual accounts would bring the future funding crisis forward to the present
by making implicit liabilities explicit. Then individuals would no longer be left
uncertain of how they will be affected by reform in the future arising from
information already available today. Thisargument does not apply to most current
proposals, however, because the proposals do not call for pure individual account
systems. They call for mixed systems, and many of these mixed systems do not
increasethe system’ sprefunding. Thus, proposalsthat do not addresstheissue of the
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system’ s current unfunded liabilities do not really reduce political risk, even if they
have created individual ownership, because they make further, undefined reform in
the future necessary.

The risk of credit distortion is another potential political risk present if a
centralized trust fund were to make private investments, but avoidable in a system
of individual accounts. If markets allocate capital among different types of
investments efficiently on their own, then, from an economic perspective, any move
towardsinvestment by the government retirement system should preservethat market
alocation or it would lower economic efficiency. A system of individual accounts
would largely preserve the market allocation of capital because private individuals
would continue to choose where they wished to invest their money. By contrast, if
the government were to make private investments centrally through the trust fund,
there would be the possibility that investments would be made on the basis of
political criteriarather than the profit motive. This potential risk seems relatively
easy to avoid, however, by stipulating that the trust fund be invested on the basis of
apassive index, similarly to some mutual funds and the TSP.

Of course, political risksare present in any sort of government intervention into
the provision of a fully-funded retirement system. For example, ideally the
government may be ableto offer individual account holdersactuarially fair annuities
on more favorable terms than the private sector. But were the government to do so,
there also would be the possibility that it would offer actuarially unfair annuities
instead for political reasons (e.g., making annuities overly generousto win political
support among the elderly). Such an outcome could create new unfunded liabilities
that could undermine government financesin thelong term. Similarly, intheory the
government could equitably spread the risks of a centrally-funded trust fund over
time, but it could also distort risk-spreading formulas in ways favorable to current
generations which store up problems for future generations.

Conclusion

The analysis in this report points to two maor conclusions. First, it
reemphasizes the old saying: “There is no free lunch.” Someone has to pay to
address Social Security’ sfundingimbalance, and whilethe burden can bedistributed
differentially across individuals and across generations, it cannot disappear.

I naction continues uncertainty asto who will pay and when. Tax increases and
benefit cuts provide at least a general picture of who might bear the burden. Some
approaches, such asinvesting thetrust fund (or individual account) savingsin higher
yielding assets other than government bonds, have the appearance of being costless,
but the benefits to be gained from these higher yields appear as costs in other parts
of the economy: higher interest rates on government debt or lower returnson private
investment (which may include direct reductions in the returns to private securities
intheaccountsor trust fund), and changesinrisk. Analysesof such approachesneed
to account for any declinesin private returns to capital, and also address what taxes
are to be increased, or government services to be cut, to pay for the increased
government borrowing cost. None of the current proposals being discussed has
provided such detail. Of course, oneway to avoid anincreasein interest costswould
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be to increase national saving but, again, such saving would mostly likely only be
accomplished by some forced government saving plan, and the policies to
accomplish it would need to be spelled out to clarify who pays.

Trying to judge the merits of aternative approaches based on which approach
posesasmaller burdenisnot really meaningful: all plansface the same problem, that
income does not cover cost. The only difference between plans is who bears the
burden. Rather, they may be framed in terms of losses and gains in economic
efficiency. If one rules out options that spread the costs to other parts of the
economy, the choice between higher taxes and lower benefits primarily depends on
the optimal size of the Socia Security system. The smaller the system, thelessitis
ableto alleviate the market failuresit was designed to cure— moral hazard, adverse
selection, incompl ete insurance markets, and failure of optimization. Thelarger the
system, the more it distorts labor and saving decisions. The form of tax increases or
benefit cuts can also have implications for economic behavior and distribution.
Besides economic efficiency, the decision depends on socia goalsand distributional
effects that may affect social welfare.

Funding the system can occur under either a centralized system or individual
accounts since it is national saving, not saving in the accounts, that matters. The
principal distinction between maintaining an aggregated system such as we have
currently versus a set of individual accounts involves efficiency gains, and not
differential rates of return. Many of the potential criticisms of individual accounts
aremirror images of therationalesfor social insurance. If individual accountsareto
fulfill the objectives of socia insurance, then they must be very much like an
aggregate system in that they must involve mandatory contributions, mandatory
annuitization, and requirements for prudent investment. But such requirements are
in direct contradiction with the notions of choice and of the complete elimination of
distortionsinduced by taxes; indeed, choiceisitself in conflict with the rationale for
social insurance.

From this analysis, it follows that if individual accounts meet the minimum
requirements for the objectives of social insurance (that contributions and
annuitization are to be mandatory and investment choice restricted), there are still
two limits to individual accounts. First, they could not, by themselves, fulfill the
current system’ ssocial objectives, which include redistribution and the provision of
benefits to survivors, dependents, and the disabled. They could reverse the
distributional objective of the current system, shifting income from the poor to the
rich on average because of the latter’s longer expected life span, and potentially
through the tax treatment of the accounts. This effect could be addressed by
subsidizing the poor and taxing the rich (e.g., government matching rates for low
income individuals), but that revison would move away from a pure individual
account system and its economic benefits. Second, they would introduce elements
of risk, including risk across cohorts reflecting variations in returns and in stock
market valuations. If the goal of reform were to move towards greater pre-funding,
an aggregate system could be more successful at spreading risk among and across
generations.

Nevertheless, it is important to aso understand the advantages of individual
accounts. Individual accounts do maintain a connection between marginal
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contribution and marginal benefit that can reduce distortions in private work and
saving behavior (although the mandatory nature of the contributions may undermine
this gain to some extent). Individual accounts also eliminate political risk, at least
within the program itself, which makes the retirement plan itself less risky in some
ways. Finaly, individual accounts may impose more budgetary discipline by
explicitly removing any Social Security surplus from government control, so that in
reality, they may be morelikely to lead to an increase in national savingsthan would
be the case of the aggregate trust fund. But for this to occur, individual accounts
must be financed through tax increases or benefit cuts.

Many proposals actually include a mixture of individual accounts and some
smaller version of the current system. Such amixed system might be used to address
some of the problems with pure individual accounts discussed above, such as their
tendency to redistribute from the poor to the rich and the problem of moral hazard.
Such a shift dilutes both the costs and benefits of individual accounts. In particular,
it reducesthereturn toinvestment and it leaves asignificant portion of the system as
a PAYGO system. But it is the interaction between PAYGO financing and
demographic change that is responsible for the current system’s impending
insolvency. There is a fundamental tension between the objectives of socia
insurance (to deal with adverse selection and failure of optimization aswell asmoral
hazard and risk spreading) and the merits of individual accounts (choice and
reduction of other behavioral distortions); any mixed systemisgiving up someof the
benefitsof thefirst to attain the benefits of the second. Evaluating aplan necessarily
involves ng those costs and benefits.

It is important to keep this trade-off in mind. For example, proponents of a
mixed plan may argue that their plan does not suffer from mora hazard or
undesirable redistribution; nevertheless, correcting these elements must reduce the
rate of returnfor most individuals, constrain the degree of choice, and limit reduction
in economic distortions that are the rationale for considering individual accountsin
thefirst place. Thus, mixed plans do not address these problems without a cost.
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Appendix: Portfolio Model

The portfolio model isbased on aportfolio function for individuals, and a debt-
equity trade-off for firms. Individuals maximize, acting as price takers:

(1) P - (a{ [be (l+1/S)+(1_b)D (1+1/S)] (V(1+1/9)) }(l+1/g)+ (1—a)Ep (1+1/g) )(1/(1+1/g))
subject torW =r,B, +r,D + r.E,

where B, is government bonds held by the public, D is corporate debt, and E, is
corporate equities held by the public, W isafixed amount of wealth, r isthe average
return to wealth, r, isthe interest rate on government bonds, r, isthe interest rate on
corporate debt, and reisthereturnto corporateequity. Sisthesubstitution elasticity
between bonds and debt, and g is the substitution elasticity between equities and the
composite of interest bearing assets. In the case of the simple two asset model, the
value of Sisset to infinity and theinitial interest rates are equated. However, for a
three asset model, the return on government bondsislower than thereturn on private
bonds.

First order conditions with respect to B, D, and E, lead to the following ratios
(2) ByD=[(1-b)/b] ® (ry/ry®
(3)  DIE, = (r/rdg [(1-a)/a] * (1-b) (oI [(L+b)b]X(ry/r ™ +1 1692

Firms also choose sources of finance (debt versus equity) depending on their
cost of debt and equity:

(4) F= [8D (1—JJF)+(1_8)E (1—1/F)] (Y(1-UF))

SubjecttoC=r,D +r E
First order conditions with respect to D and E yield:
(5) (DIE) =(rfr)" [8/(1-8)] ©
To complete the model we have the following constraints and identities:

Total equities are:
(6) E=E,+E,
where the p subscript refers to equities held by the public and the g subscript to
equities held by the Social Security trust fund. E;isexogenously determined, andis
zero under current rules, but equal to the total assets in the trust fund in the new
equilibrium.
Total government bonds B equal:

(7) B=B,+B,
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where the p subscript refers to equities held by the public and the g subscript to
equitiesheld by the Social Security trust fund. All are exogenously determined, with
Bg equal to the assetsin the Social Security trust fund under current rules, but equal
to zero in the new equilibrium.

(8) K=D+E

The private capital stock, K, isfixed, and is the sum of debt and equity finance,
which are determined endogenously.

Since the private capital stock isfixed, so isthe margina product of capital:
(9) F(K)K=rD+rE

Equations (2), (3), (5), (6), (8), and (9) are six equationsin Six unkNOwnNs: r, Iy,
le D, E,and E.

For purposes of illustration, the model was calibrated for FY 2000. Based on
data at that time, and norming output to 1, the private capital stock (K) was 3.35,
with 1/3 debt and 2/3 equity, the government debt held by the public was 0.34 and
assets held in the Social Security trust fund were 0.10. Real interest rates on private
debt, equity, and government debt were set at 0.048, 0.088 and 0.017 respectively.

For the two asset model, the model was differentiated and the interest rate set
to approximately 0.04, a weighted average of government and private bonds.



